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Which of the following objectives are true with relevant of Tamil Nadu Soecial
Weifare Board?

L

II.

11

V.

(A)
{B]

Upliftment of people living below poverty line through voluntary institutions
in the state

To promote setting up of Non-Governmental Social Welfare Organizations

To render technical and financial assistance to the voluntary institutions for
better quality and standard of services

To strive for equality between men and women

I, T and IV

11, 111 and IV
L I and IV

ay"'l I and 11

(E) Answer not known

s 8pan[E sops po anflugsed GEnfye w Semaymib Crréshisallo o o’

L

(A)
(B)
(<)

()
(E)

wrBagda oo genammie Hpeserisdr apan aupeowns Gam REss S arupn
insseiiar Gubur®

<218 ST SADL HE) SENLOULESEDT S0 LIRS 0576 Felgsd

fppa snb wppb Craausafier sréfinens saenmie Hpeuembsenss emdndu
0bgi> B & pelismer gl

S, BT e @D s s g A @D Bl dlona sussaugdbsns UrRHuay

L 11 iy TV

11, 111 mm_gnh v

I, 111 whms IV

L 11 wypgs 111

ellanL Qﬁdﬂuﬂﬁn‘hﬂ.‘r
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2. Choose the correct statements related to “Black money”

()

(b}
(e

These are assets not reported to the Government at the time of their

generation,
Estimate of black money in India for the year 1983-84 1s 95% of GDP.

“Tax havens” are I;:,rpiﬁlly big countries which impose high tax on the
foreigners who deeide to settle down,

W (a) anly

(B)
()
(D)
(E)

(b) only
(a) and (b) only
(b) and (¢) only

Answer not known

S5 wamb Gem_iurer Sipsranib spfia/mppsafid sfuraapan Cara) Bedwiayd

{a)

(b)

(ch

(A)

(C)

()

(E)

GR1P/21

Blis wasuren @ooy  socosdla aspusd obdl  soesg  peaa
HenGasiiufaddames.

1983-84 seid ageimed,  smOLY  uengder wdoSreg,  Gungs  edpild
e pusHulisr (GDP) 95% apgb.

“cul gruonpm LSl 1b” erdnLsenay Quirgains QLfiu prpsans §mash. Cogub S5
prEsd, @ Sup aergb Gaaipn’ Lo by sfls afssmomu Saflbsn.

(a) wi G

(h) wi o

(a) wpmb (b) wlHo

(b) iodmd () i {Hib

sl Opfuchiime



Statement 1: A major issue highlighted by census 2011 is that there are around
50 lakh less children in age group 0-6 years in census 2011 than
census 2001.

Statement 2: Population growth rate between 2001 and 2011 is lower than the
Population growth rate between 1991 and 2001.

(A) 51 and S2 are correct but 82 does not explain 51

(B) 51 is wrong; 52 1s correct

(C) Both 31 and S2 are wrong

R S1 and S2 are correct and S2 explains the 51

(E)  Answer not known

ampml: 06 avy Gypmssdea aermfléas 2001 wiser Ggras serstsiueu
GUlRisGungy 2011 nésdar Cares sensGa@indla swomt 50 wlsn aweny
E@pksdTag. Pis cotemo sl Orssmenurs 2011 wasd Wgmens
semEtafild s s s oul Bearang).

mpp 2 2001 wpoie 20110 gen@eesEs Geoudore wasd Gstas werliédl eigo
1991 wpmid 2001b geeGsenss Becdanes nEss Qares amnad
disdga gunllBasudd gapaurmg msb.

(A  spml obmb 2 &, sgend s 2, spy 1-sanar alards s

(B) sapml seup. spm 2 s

©) spploppd by 2@ranGo seup

(D) sdm 1 wopmb spm 2 e 0. sapm 2, sapg 1ésman sfiwner eilensan

() aflen Caflweilaen
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4. What are the recent trends in the global economy which has led to RBI ‘sell buy’
swap of USIVINR

(a) Financial markets worldwide facing intense selling pressures due to the
sgpread of Covid-19 infections.

(b)  Slump in International crude prices,

(¢}  Emerging market currencies experiencing upward pressure.

(A} (a)only
(B) (b} and (c) only
Q" (a) and (b) only
(D)  (c)only

(E) Answer not known

o @8 Qummenmgrrididn sl Euni#aﬁd: etepey Eidlye fsddn audidlullsn (RBI) a00nfss
Lo - @fu munl C‘dpsn-ambgd’ ufoihpgems OsuduBEs smremons

S G LOV T T TR
(a) GereflC <18 GuumiBsnpord o aoseads @ shmsser spdss wms dlbumean
Sm_ifiiren Sefily Sipdss.

(h) o assnengullc: sben eranGend eflens #flay.

(c)  suemilg eumib spengaeiicn premmy whiy CuaGnrédy supissms shdllug.

(A} (a) i B
(B)  (b) wpgun (€} wlFib
(C) (a) womwb (b) wi b
(D) (c) wiib
(E) eSeno Qufluaiidome
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Name the first backward classes commission established in the year 1953,
(A) Mandal Commission

(B* Kalelkar Commission

(C) Harbajan Commission

(D)  National Commission for backward classes

(E)  Answer not known

19538 Al apsd SHuBasiul L aglusd spanamuglen Quuamys @Bl ab.
(A) el yenemuh

(B) a&rGadsT spenamilh

(C) aonage e

M Genphdly eigisenesra Coélu enamub

(E) el Gpfweiideana

Which of the following statements regarding Arignar Anna is [ are corvect?

(a) He served as the sub editor of the “Justice” Magazine

(k) He beeame editor for “Viduthalai”

(c)  He was associated with activities related to Tamil Weekly paper “Mudi Arasu”
(A) () only (Rl and (b)

(C)  (b) and (c) (D) (a), (b) and (c)

(E)  Answer not known

B fhsit seraa Lipdlu sfwnen subep [ abpsmer Gaiey Gelwaub,
(@) e ‘B8 uSfesden gener s fiflgrs waflumpblenm

b)) Epmee’ uidflmsddn g ffums veftunpdionn

(€} ppgwirs’ srgud s04H e Bsh Seafurer el FRHuCoTf
@A) (@) oL B) () wpgyd ()

(€)  (b) wmged () (D) (a), (b) wpgd (c)

(B} «SenL Gaflwsidama

In 1944 at which district conference, ‘Justice Party’ was converted into ‘Dravidar
Kazhakam™?

LM Salem (B Namakal

(C) Dharmapuri (D) Trichy

(E})  Answer not known

19446 g Qupp wipmig s fAmCH, Soreil i apsions wrilug.
(A) Gsend (B) pmossa

(C)  mioyf (D) Smed

(E) ellen Gafluaiseamea
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8. Which among the following statements is not an objective of “Cradle Baby Scheme"7?
M To ensure adoption of family planning

(B)
(C)
(D)
(E)

To eradicate female infanticide

To increase child sex ratio

To increase the rate of girl child literacy
Answer not known

Semeumid smppsaafic ‘Gamiigd mppems SO sda’ CErésd sidhenss a7

(A)
(B)
(C)
(I

()
(E)

—
k

II.

(A)

(€
(E)

GR1P/21

@buE s Hun® apenpenu o sl Clediag)
Gluas Assblamaaenu gilliug

wiphens undlen eflflgsme sullsfoug

- Guer gybmgsaticn sdellwiflena flaflig

elileni_ Qﬁﬂuﬂﬁlm

To transfer the substantive provisions under the Indian Penal Code
Dowry givers should be excluded from punishment
Appointment of Dowry Prohibition Officers

The marriage expenses should be limited to 20% of the annual income of the
girl's parents/guardian.

Which of the above statements isfare true concerning the Dowry Prohibition
Act, 19617 -

I only (B) Il only
I and 11T only LW Al of the above
Answer not known

@ hEiw mar_snemd 5 gflen i) saflsomne dlfsmer wopmess

s sman DarBluaisas sen_mendlmis dladaliui. CadrDib

e senan s sflsrilsemen Huiflssd

Hoyoams Qsaasdr Quansaiar QupGpmt | Lngsramfla e amorengdd
20%aEg e Bmhs Gevenn(Hio

1961, agslsman e dol i Gemofune Copsar. sonsefla am [ eame
E_ETamn?

I il (i (B) 1l wlub
I wimyd I 0" G (D) CGuhHsamn. seaaggib
ahtenL Gmflichldencs



10. The Samarasa Suddha Sanmarga Sangam was founded by
{A)  Dr. Muthulakshmi Reddy
(B) T.M. Nair
{C) Thanthai Periyar
W Ramalinga Adigal
(E) Answer not known

SIOTE HE SANOTTES ShibGans o (Haursdlwet
(A) Dr. apigs@el sl dnlg

(B) genin mmwf

(C) phens Cuiwmi

(D) Eomoditis g se

(E) dlac Gaflucideane

11. During 1820s in Tamil Nadu the subordinate castes were generally prohibited from
(a) Using umbrella
(b)) Wearing shoes
(¢}  Wearing golden ornaments
(d) Wearing turban
(A (), (b), () (B) (b, (c), (d)
(C)  (c), (d), (a) (D} (d), (a), (b)
(E) Answer not known

1820 sefid gulippm_igs smpssiiu’ L sngidamée Qungens geus Geluiul L aa
(8) @en i uwenun(

(b)  smeeaf seflog

(€) pispos meflag

(d) il syenflang

(A) (a), () (© (B) (b), (e}, {d)

(C)  ieh (d), (a) (D) (d), (a), (b)

(E) cflen Qgflualsenss

g 4 GR1P/21
[Turn over



12. What are the facts related to defining GDP?
(a) It is not for a specific period of time,
(b} It measures only goods and not services.

c) It 15 & non monetary measure.

(A} (a}is correct; (b) and (c) are wrong
(B)  (b) and (c) are correct; (a) is wrong
l";/ (a), (b), (c) are wrong

(D) (b} i= correct; (a} and () are wrong
(£} Answer not known

Glongs eapr @ o pugsl (GDP) Ggm_funes sfluna sapep/sepmseoar Gaiey Geda)b,
(a) =y et Eiodle ste aeruanks o fisrag b,

(b) g "CunmCad” Agm_furer e eieralCLwngb, "Cranas” Qem.fuimearg e,

{c) <Biff LIGRTLD ST aTal_mEih.

(A)  (a) sfl; (b) wombd (¢) seum
(B)  (b) widgubd (c) #f1; (a) seumy
(C)  (a), (b), {c) seumy

(D) (b)&fl; (a) whmub (¢) saum
(E) &S Ggfuefideana

13.  Which District is oecupying the last rank in Human Development Index in
Tamil Nadu?

(A) Villupuram (B) Them

(C)  Perambalur Qe hriyalur

{(E)  Answer not known
SLAD g en e onau Lt nafls Guobum’ B L cmandia s Al b ellfldmg?
(A)  eSplnpid (B) Gpaf

(C) Qupbugn (D) caifsgpm
(B) afleon. Qeflwelisiona
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14. Match the following :
Author

{a) Vannadasan 1.

(b} Ingulab
() Ramakrishnan

(d} Cho. Dharman 4,

(a) (b) () (d)
(A} 1 2 3
(B) 3 2 4
&7’ 3 1
Dy 2 3 4 1
(E) Answer not known

B = s

Spsam_supam Qummigs
AN

(a) eueneRsTEE 1.

(b)  Eenmen

{¢) pmodlmageamrer

g 1o

(d) smoen Gsn

-

e ® @ (d}

Ay 1 2 3 4
(B) 3 2 4 1
C) .4 3 1 2
m 2 3 4 1

(E) eBen_ daflwishidoenc

o

Kaandal Naatkal

Oru Siru lzai

(ST TREW (RTRY. 5. 5. 31

FERETLD

L
i Sy Gens

11
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15. Child Development Index takes into account of the following factors
I Education
IL Income
I, Health

IV, Nutritional status

Select the appropriate combination.
(&) 1,1l and III

@ 1, 11 and IV

(Cy LIandIV

(D} 11, I and IV

(E) Answer not known

@phag Cuonum’ Ga gildi Gemaumb srraflsmas senddlo aisEE Qarardipg

L SEEs
II. aumEwmeanh
IIl. ssngmmi

IV.  om’i issg Heva

el iren Caibenseny Cpia) Qaiiuab.
&) L Haopg I

(B) 1, I b IV

(C) L I onmb IV

@) I, 11 i IV

(E) efene GpRuiciidrensd

GR1P/21 12



16.

1T

18.

Punjabi language has close connection with

Hindi and Urdu (B} Hindi and Sindhi
(C) Persian and Urdu (DY Sanskrit and Hindi
(E) Answer not known

ughemsl wonygh oL e Gipmiadu Qem My 2 g,
W)  abitd whpb o me (B) et whph fAhd
(C) unpdsib whpib o mas) (D) swsvdmsib wimb @hlbs

(E) eflen Gesfluslioma

Which article of Constitution of India mentions the abolition of untouchability?

(A)  Article 16 (4) @ Rrticle 17
(C)  Article 18 (D) Article 19
(E} Answer not known

@iy spflusesibi ahs sosg fam_rao glloy vl efodBéng
(A) 16 (4) sods (B) 17 svgs

(C) 1Bepsy (D) 19 svsm

(B) cilen Gaflwebioean

Which ideology threatens Indian Unity?

M Communalism (B) Communism
(Cy Democracy (DY Socialism
(E) Answer not known

G S @RS GODIE LML 2SI ng?

(A)  essglyaTsD (B) Gungeyesans
(C) nEsam # (D) Cenflwdisd
(B} eflenr Qsflweldene

13 GR1P/21
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19.  This place 15 located 12 km South East of Madurai. It proves the fact that an urban
civilization existed in Tamilnadu in the Sangam era on the banks of the river Vaigai.
A researcher and retired civil servant Thiru R. Balakrishnan points to the
similarities between this civilization and Indus valley civilization.
Which of the following places is described in the paragraph above?
{A) Azhagankulam
(B) Porunthal
(Gl Keeladi
0y Kodumanal
(E) Answer not known

Bevehl b wgeanSdmis Cgadlpas Seslo. 12 4.8 Gsreowdd smuhydeg.
sullpssdles eaes Hiplsordd susstaw spsp prsfled scectidmiss uniu
sy uapsThndng. orosfurermd gley Gupp irs  sBisrflore
. . urad mayewen, Gkis smwpdEps Frefssimn g swbael prafsss Heb
£_TeT GRS S i S HElmn.

Guoa @dlCSC Bemer B b wirg?
(A)  spsengand

B) Gurmpss

©)  fipu

I} AsnBuwessn

(E) aleo Gafludidama

20. Which book Explﬂiﬂs the four noble truths of Buddhism?
(A)  Nettiprakarana

& Petakopadesa
(C) Buddhadatta
(B} Ainands

(E} Answer not known

THE LESSD Libs wssdlen mrans, Lefly o draosaar elandgmng?
(A) Gl 3ysryenm

(B) (9. Gan LiGsem

©  ysssisn

D) gyepan
(B} eflen QaflusBaame

GR1P/21 14 n



21.

22.

Who first brought Christian faith into South India?
(A) Martin Luther Y (B) Ignatius Loyola

(C)  St. Francis Xavier (RYeSt. Thomas
(E) Answer not known

apsa apadia dfisga polsamsou Geaafisdunedbes arampgar wm?
(A)  omingen gnsi (B) ElaCanFwisn @Gumeon
(C) yefly Sgresdlcy Caelr (D) el gmoeh

(BE) allen Gflwelldana

This Philosophy was purportedly founded in the 5% Century BC by Makkhali Gosala.
It was a major rival of vedic religion. It reached the height of its popularity during
the rule of the Mauryan Emperor Bindusara around 4% century BC. This School of
thought was followed for nearly 2000 vears through the 14 century CE in the
southern states of Karnataka and Tamilnadu

Which school of thought is deseribed above?

(A) Carvaka
W) Ajivika
(C) Lokayata
(D} Mimamsa

(E) Answer not known

Bastmenn £ap Db mporemgd wesmd Cersraprd Bpetind g EESmMD )
sfiuiuBiog Bs Cas weidde Aumd saurans Bmpss. Ba. st &op. faud

- mndmrsengd Guerflud Guggst Gigemyrelldan 2O AE sragdld ysifldn o dsgens el hsa,

Eéssgann £ 14 b pporar@ ey Aoogsc 2000 e arokise
Gaemnniiokaamen stmm_sr wHpn S8pesdha Qamorbs Gemuppiot. g
Ciosbamggus cllaufiii ehs pgabems whibng?

(A)  sTearsT

(B) mfleusd
(C) Cearsmugid
(D) ulombsn

(E) alen Qaflusldena
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23. How the coronation of crown prince was described under the Vijayanagar rule?
(A) Aswamedayagam
(B) Pattabhisegam
(C) Satabhisegam
W’Yuvﬂraja Pattabhisegam
(E)  Answer not known

eblpuipait g Huller £ Gleavaursticn apum b Taanm senpssiiu L g ?
(A) eevatingursh

(B) uwlimSCaysb

(C) sgmilGassn

(D) weugmg Ll mSCessin

(E) eSen Cafweiideane

24.  If a simple pendulum with the mass of the bob as ‘M’ has a time period™T", then if in
the same pendulum another bob with mass 2M replaces the original bob. Now the
time period is (It may be assumed that the string attached to the bob has no mass)

(A 2T
T
B 3
Q- T
3T
(D) T

(E)  Answer not known

M aésp flenp Gsrabn g seflgyedlan (simple pendulum) sewas) Crmb “T" aon o dag.
Glen syggefigsdian smapEan(y wrhpiuBeasrd sga Beop 2M s wipdng. sHCunE
Sigen SsowaGprd adaans BnEEDn? (enspEano. s Feop Bopupnsrate

&M SEnITLD |
(Ay 2T
T
(B) 7
i) T
o 2L

2
(E) efenL Ggfwiaiidana

GR1P/21 16 o



25. Alamgir nama was written by whom?

(A) Jafar Khan WM uhammad Qazim
(C) Aurangazeb (I} Mukhtiar khan

(E} Answer not known

e smormeu @whdlug wni?

(A) gl smen (B) apepibing sraflh
(C)  sagsdl (D) ppsguent smer

(E) efen Cafluehicvme

26. Arrange the chronological order.
1. Death of Humayun
2. Second Battle of Panipat
Building at Fathpur Sikiri
Proclamation of Din-illahi

Bm]l=4=3
(Vl 3-8
(Cy 3-4-2-1
D) 4-3-2-1
(E} Answer not known

& paam_supap sne euflemsiu Bisss,
1. @mreLomy e el Ehmi

2. Bpeer,mb crafliu (7 Gum
3. ulslyf Bl el Gupgd
4. Eern [Femadl wgib syfilabiing
(A) 2-1-4-3
By 1-2-3-4
{(C) 3-4-2-1
Dy 4-3-2-1
(E) eRen GgMwelldana
n 17 GR1P/21
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27. Which land distribution system adopted by sultans of Delhi?
(A Iqtadari (B) Mansapdhari
(€) Subhadhari (D} Zamindhari
(E) Answer not known

Gl ségranmarma gopsbararenin L Sl afiBiGuns apeanp g ?
A)  @iggnf B) wensigrf

(Cy =ugrfl (D) mibemgmf

(E) oflen Gefusidana

28. Match the following :

{a) Mahabaladhi Krita 1. Commander of the Cavalry

(b) Mahashvapati 2. Commander in Chief

(e} Mahapilupati 3. Chief Justice

(d) Mahadanda Navak 4. Commander of the elephant force
{a) (b) (e) (d)

(A 4 3 2 1

@2 T 3

© 1 2 3 4

Dy 3 2 4 1

(E} Answer not known

Sipsan_apap Sunmiges.

(a) warurad Smis 1. @feyusn el

(b) wamsveuLd 2. uegseud

() wamSg g 3. peweoffug

(d) wargear Brus 4. wirenam Liant_& gamud

(a) (b) () (d)

(A} 4 3 2 1
By 2 1 4 3
) 1 2 3 4
I 3 2 4 1

(E) eflers Gafluchidena

GR1P/21 18



29,

1.

Who was the Director General of Archaeological survey of India at the time of Indus
Valley excavation?

(A) Dr. R.D. Banerjee Mir John Marshall
(C) D.R. Sahani (D) Max Muller
(E) Answer not known

fitg swlwefl ospeammisfiba Curg @edu QenaBunmed guieblen BlusEnt Gmenys
L) g

(A) peemaud R.D. Lineningdl (B) & gmen omTasea

(C) D.R. sqpneil (D) ionéeh apseod

(E) efeni GaMiuchldmen

More than 500 seals have been discovered in Indus Valley civilization which are all
(A) Geld (B) Silver

[VTerrm:ﬂtt-aﬂ (D) Copper
(E)  Answer not known

Sng swBeual prafsgdda 500-smb Copule apgfarsd sarQUBasiul Lg. s@ausdr
el FwrflEEIUCLE.

(A)  grsb (B) Qe

(C)  wesmemme Gl § _I_'Il] EeibLy

(B} eflen Cgfwebldeme

The source of dendrothermal energy is

(A)*” Biomass (B) Coal
(C) Pyrolysis (D) Natural gas
{E}) Answer not known

et s hmeilan (dendrothermal energy) <gusnmb erenuig
() odigfira (B) Pasaf

(C) Qaiufaega (D) Pwhens eumy
(E) ellen Gefiwelldana
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32.  Which of the following is the consequence of climate change related warming of
rivers?
(A) changes in water salinity
Mhﬂﬂg&a in fish migration patterns
(C) changes in pathogen load
(D) changes in contaminant levels
(E) Answer not known

Heraumeuaneadiien eg pflsafien sraofae Gsm_rmurar Geauliuwwisrgaliean eflamaney?
(A) B eodiug semanw wrpohisey

(B) denser @o@uuiay qpenp wrHohiser

(C)  Cpris@fBind aawaens wipplisd

(D) & osgs o0 L G8E inrhoiisd

(E) ehlen Qefluchldane

33. The major cause for the depletion of Ozone is
(AY*” Aerosol
(B)  Hydrogen Sulphide
(C)  Hydrogen Sulphate
(D) Carbon di oxide
(E} Answer not lmuwn

glemenan o flEmn apddle smrenf
(A)  spstucsib

(B) evamCrmen sl e

(C) oan’ rme sdn.0ul

(D) aniues @ Sgsaam

(E) e Qafluicildens

GR1P/21 20 Iy



34,

43,

The pollutant which cause impairment in plant metabolism is
(A)  Nitrous oxide

(B)y Carbon di oxide

(Q™” Sulphur di oxide

(D) Carbon mono oxide

(E) Answer not known

gmeu) cuaileng wahpddd geplurl ee gDUEESILD WIe
(A) mpgdv el

(B) asmiusr-a -spamau(

(C) saui-a-spsaanE

M)  smiuer Cuoramaaa®

(B) sflenc Ssfwehidme

The Chairperson of National Disaster Management Authority is
(Ay”” Prime Minister

(B) Home Minister

(C) The President

(D) Defense Minister

(E) Answer not known

Gaflw Cuflh Guoeraman gyaanustles sameant
(A)  Sogwo i

(B)  edgenn whsfl

€ gardud

(D} unmsmiygen widf

(E) elleor Gpflueilaana
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36. 'The most important scheduled tribes of Uttar Pradesh and Uttarakhand

(A) ‘Todas
(B) Nagas
(C) Santhals
{EI)P‘" Tharus

(E) Answer not known

o g8ndrCssh whpd o gmraramse Bs apsduomer Lpiigs e
(&) Gpmi

(B) prasi
(C) smigeey
D) s

(E) el Qaflwchidenc

37. The most populous State of India is

(A) Bihar

(B) Maharastra
(8 Uttar Pradesh

(D) West Bengal

(E) Answer not known

ifls wss derasaw SerarL. @bdwu wrblawn

(A)
(B)
(C)
(I}
(E)

GR1P/21
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GLomys sumisin

shlen_ Ggflueldme



38. The total no. of railway zones in India are

29,

40.

aneuBdng.

(A) Fourteen Zones (B) Fifteen Zones
{C) Sixteen Zones (D) Seventeen Zones
(E) A 5 b Ko THE QUESTION AND ANSWER ARE TO BE

PLACED BEFORE THE EXPERT COMMITTEE
FOR FINAL DECISTON.

Englurelia pulaGe wan_aisatidn Cungs ereareaflsas

(A ufemeng wen_aiise (B) uflenenpg wam wiiser
(C) ufesmy war_eksd () L Garp wam_eo ke
(B) e Qpfwaiene BaCadel wpgi el Bpgl wy ogars

aldgIHT el o @wssiu s day.

soil iz found in all the districts of Tamil Nadu except Nilgris.

(&) Red soil (@) ack soil
(C) Laterite soil (D) Sandy soil
(E} Answer not known

waer suens, sy priwd fadfleou sy bip Seends wraul L ksaflgih

(A) GQsbwear (B) =flad weinr
(C) smssdwe (D) were wam

(E) el Ggpfwcidasns

ldentify the option in which the rivers are given in North - South sequence,
(A) Godavari — Mahanadi — Kaveri — Krishna .

@ Mahanadi — Godavari — Krishna - Kaveri

(C) Krishna — Kaveri — Godavari — Mahanadi

(D} Kaveri - Godavari - Mahanadi - Krishna

(E} Answer not known

il & - GEpE aflansuda g pad GarfBasu’ Bdrar GananD S wUremh Srars.
(AY Cargraufl — nsrpfl - srleufl — £megemn

(B) wenpd— Caogreufl — &meparn — srideaf]

(C) dlgmsyarr — anGafl — Cangreufl — wansd

(D) snCeaufl — Cangmeuf — wanph — Hmeigemm

(E) eflen Qpflweiidana
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41. A super computer that allows researchers to model energy technologies using
artificial intelligence is
Joule 2.0 (B) Watt computer
(C) Zetta scaler (D) Fugaku
(E) Answer not known

wrdfl ayppd Gsmfe miugdea sgrmidflurerisdr Gswpens pewanfiey pped
aumpennds Galugn Cuodin’ L saefleafl
(A) e 2.0 (B) aunt seaflad]

(C)  &linmawGaen . (D) arsm
(£) shleo Gsfluehibama

42.  Which of the following facts about Covid-19 virus is / are wrong?
{a)  People who have been infected by the virus but do not have symptoms do not
spread virus.
(b}  Reinfection is not possible.
(e}  Anosmia (loss of smell) is a symptom.
(d} Babies do not get infected hf.ﬁﬁrm*rirus.
(A)  (a) and (b) only
(B (a), (b) and (d)
(C)  (c)only
(D)  (d) only
(E)  Answer not known

Canefl - 19 eveureh Gem_fruner Sfsrgpid sppsaia samren b/ smipscea Gaiay
Padumyb

(a)  emeugeiv @popm &g minSgub, ofigilsd Gdonsatsarnsd Quihp urang.

b) o AsmHp FHULL FUKES Sen@io Ssmom THuLg

{€) ‘ppethy e ewmmb semaw Gy - EEGsnhbien o limmdlwmesi.

(d)  Epbosss @sCsmbn urang.

A) () wpgid (b) o G

(B) (a), (b) wpmb (d)

(C) (c)wFib

(D) (d) wl G
(E) e Qsfusiidma
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43. “The one who gave false judgement (Ethilalan), was deeply hurt by himself as a
woman who pulled out ene of her breasts to burn the city”,

These lines which seem to indicate the story Kannagi is found in which of the
following Sangam Literature texts?

{A) Kurunthogai [Mﬂttrinn.i

(C) Puranaanuru (D) Akanaanuru

(E) Answer not known

‘gflsonardn s swupn

ST (P SNEES Elmor o el —

savemfulidn apenpepsd gfiluug Cure steriuBn Raefsa GuoCupp sws
[Bwosduib

(A) @EppEsies (B)  pidlensm

(€)  ypsrepnm D) ssprgnm

{E) shlen Glgfliusildeana

44,  Which of the following rivers originate in Karnataka?

L Bhavani

II. Palar

III. Pennaivar

IV. Cauvery

Choose the correet one :

(A I I, I (B)y IV,1.11
© m, i (Rt 111, 1V

{E) Answer not known
Spsan_wpper ops msd sipr_s wifoido o dugdunddapa?

L usmaf

IL LIy

1I. QuereaTumy

IV. snehiifl

aflwmenauenn Gl Hssab -

Ay L 11, Hi (B) IV,LII
(Cy 1 1v.1 (D) 11, 111, IV

(B) efien. GsfueBbae

n 25 GR1P/Z1

[Turn over




45.

46.

Consider the following statement

(1)  India Introduced the family planning programme in 1950s

(2)  The family planning programme adopted Neo-Marxian approach to birth control
(3)  End of National Emergency Ruled out compulsion in family planning

(4)  Planning and implementation was carried by central Government

Choose the correct answer :
(A) 2 and 3 only correct Mﬂﬂ&&uﬂ}rmmtt
{C) 2 and 4 only correct (D) 1 and 4 only correct

(E} Answer not known

Sipaainl_ sDmSsena shHeyLD |

(1) 1950 gub sanpsaia Bidu gHou sCHum B S Sas sflpsiuisug

(2) @Hbu siGur® Aoy uyfu-wrify sgnecpende  Spluee B
Qalwiiiuc L g

(3 Capflu Apmesy opgasE afsay s Do sLGOUNE sLLmunrssUULadma

(4)  Alfé whph QevduBise ndBe s GuopEardraniul Lg

sflwren eflen_amu GuiEbsHesaD
(A) 2 opmd 3w G = (B) 1uwdmid 3w G ef
(C) 2 wpgnbd 4w (B #f (D) 1 indpb 4w Fub &F

(E) eflan Gaflwelidana

Kalpana Chawala Award for Courage and Daring enterprise in 2020 was awarded to
(A} Tmt. Senthamil selvi

(B) Tmt. Muthammal

(C) Tmt. Ananthavalli

(W Tmt. Senthamil Selvi, Tmt, Muthammal, Tmt. Ananthavalli

(E) Answer not known

afiy @ewignisman, 20200 Syeme dn Ssuam sTayen sblmg ———— &g aflbsluc L g
A)  Boof. Ceppdp Qecred

B Swwsd. whsbond

© Dol gepad

D) Boiwod. Cappdp eied, dof. whsbwnd, Seod sapsasa

(B} aflen GOgfuchldense
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47.  The word “Sustainable Development” is clearly indicative of the fact that
M Natural assets are finite
(B) Natural assets are infinite
(C) Natural assets are not resources
(D)  Present model of Development promotes stability in nature
(E} Answer not known

“Hlena Bmgsid o Sellmid" egyb aunigens garatfiuons gillug

(A} Bupens Qsrggsad GpigaipésnsgLig

(B)  Bupes Gsrsgsss pigannss)

(C)  Buhens Gendgindr suamiser s

D) spCuresu aeaied wrdfl Bubes sufirgsarmuamy ensgadlsdng
(E) dileo Gsflueiidbana

48, The following are the funetions of Niti Aayog.
Find out which is/are wrongly listed
L To foster cooperative federalism
II.  To give final approval to five year plans
1. To implement schemes for rural development
IV. Toadvice the State and Central Governments on levying taxes

(A) Tandll (By 1,11 and I
(Qe” 11 and IV (D) Only IV
(E) Answer not known

B8 Cwnsbar Laflsd £3p AerREsULL Herarean
@fa arg/ eeneu gauprs GerHas i FGerarg

L Sl (Rmay sl Slenw euaniged

L gigren® S iserie B GuLEs Sefisd

II. eegs cueriiflEsmea 1 ks oL EE 50

IV. wiflw oipd vrfe sreaEss afl agd Hamn_funs siflae aiprigsa
(A) 1 iohpn I (B) I, Il whgpn 111

(Cy 1l opgpen IV (D) IV olfb

(E) el Gaflweldene

n 27 GR1P/21
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49.  Which of the following statements regarding political parties in India is/are correct?

(a) Parties in India function within the institutional framework of a federal
structure and are bound by the country’s electoral laws and rules

(b)  Strong institutionalised parties are vital for healthy democracies

(A) (a) only correct (B) (b) only correct

(€ Bath (a) and (b) are correct (D) Neither (a) nor (b) is correct
(E) Answer not known

srélwd sCfsd ghiss Sparariuin arsdukises o/ e sflwrarane?

(@) @ srduds s fsem g5 miLn A sl endused GauduBdanmen Clogib
Erig e Gaigd £ disdr wdoub dlfisenss s GUoGEdamen

(b)  Aplumer memmmus prsEsss agere  Spaenordstiul,.  siflsda B

opadluiomenanea
A)  (a) wlGb s (B) (b) o Gib 2
(C) (&) vombd (b) Wi Fub &f (D) (a) wib Bevenco, (b) wth Febenen

(E) e Qefuadame

50.  Which of the following (Book-Author) 13 wrongly matched?

(A)  Half Girl friend ~  Chetan Bhagat
My country my life = Dalai Lama

(C) Born again on the mountain —  Arunimasinha

(D) The country of first bovs —  Amartya sen

(E} Answer not known

Epdansrubd LsssRsd LHDD SEdE apssTaTselid paprs Qurmgsin Gerang

a5i?
(A) gopmisféLrEm - Gegdr LsS .
(B}  rén Cmb erein cumpsons - EDe mom

(C}  wew by Barfn Gpitsd -  syreflorelidapon

D) s yamSamarseflan Coobh —  wunitgu Qedn

() eBan. QpfucBvensn

GR1P/21 28 n



al.

Match the sport with the corresponding number of players :

Sport
(a) Polo 1.
(b) Rugby football 2.
(¢} Hockey 3.
(d) Base ball 4.

(a) (b) (c) (d)
(A) 1 3 4 2
a4 1 2 3
) a 1 i 2
m 1 4 2 a

(E) Answer not known

No. of players
15

11

9

4

smeeriLHin ellamenun_ g enan y5hs Caemaune dipfsaiian sramgmiL.ar Qunmiss

edemanun’_ (B
(@) Gurenr 1.
(b) &S srdups 2,
(€) porad a.
(dy Cuesurd 4.
(a) (b} (c) ()
(A 1 3 4 2
(B 4 1 2 a
o 3 1 4 2
3

M 1 4 2
(E) dilen Qaflweiidoane

efigisar araRy

15
11

9
4

Which of the following is/are not situated in Rajasthan?

(a) Dilwara Temples
(b) Mehrangarh fort
{c) Bara Imambara
(d) Purana Qila

(A)  (a)and (b)
(C) (a)and (c)
(E) Answer not known

@ (c) and (d)
(D) (h) and (d)

Epsnerliufiuerasaiien erg)/ erane prgeogmatie e masetlaamen?

(a)  Hasurgr Carsblesme
(b) Gugprhart Cam_ane
ic) LI DAL

(d) ygmenr den

(A)  (a) whgd (b)

(C) (&) whgb (c)

(E) e Qsfwsibeaea

(B) (c) wpmid (d)
(D) (b) whgb (d)
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53. Match the following women personalities with their achievement

(a)
(b)
(c)

(d)

(A)

Personality (Name)

Anna Rajaram Malhotra

Sarla Takral
Arunima sinha

Surekha Yadav

(a)
1

® 3
(&3

(D) 3

(E)

Answer not known

(b)

3
1
1
4

{c)

4
2
4

2

(d)

ok s B3

Bl i

Achievement
India's first female to fly an aircraft
India's first female train driver

India's first Woman [AS officer after
independence

First Indian woman amputee to scale

Everest

EipdaramiuBio Gue SIS aTLTATE@ET SEUTSEr srgemanLi e siuns dunmsss

{a)
(b)
(c)

(d)

(B)

(C)
(D)
(E)

GR1P/21

sngenamurant | Guwim)
<DieremT grggrymh weaGanrdym
FTGUIT SETE
sl £ergpn

HETET wirSe

{a)
1
a
3
a

ablen.. Gaflwellsana

(b)

3
1
1
4

.5 - S . - S

= bl i B

30

sngena

B irellen apmed Cuger efluamafl
Eiflwinrallen apsd Qumr Frulé gl Hst
sgifly  Eedurear paw Guew
IAS syl marl

seuge.  flagdens sweelfphEs  &ned
gl sS0UC L apse @m8 i Gl



54. Match the Tourist spots of India with their States

{a) Hampi 1. Andhrapradesh

(b) Horsley Hills 2. Uttarakhand

(e) Hogenakkal 3. Karnataka

(d) Haridwar 4. Taml Nadu
a) (b) {e) (d)

{ d 1 4 2

By 1 2 3 4

(C) 2 4 1 3

D) 4 3 2 1

(E) Answer not known

@ RSureilen SHICTE SRS e wmBlenistan® dunmgs

{a) aouDd 1. Edod GrCssn
(b) aomieuGe EenmseT 2.  egfirsnam_
(c) wCamisd 3. sApTL&D

(d) apfiggeami 4. Flpord

a ® © (d)
(A) 3 1 4 2
B 1 2 3 4
© 2 4 1 3
(D) 4 3 2 1
(E) eflen. QfuicBirened

55. Where was the venue of the 37 Global conference on road safety in collaboration with

WHO and world Bank in 2020,
(A Stockholm (B) California
{(C) Holland (D) Geneva

(E) Answer not known

202006 o as ssnsny St (WHO) oigs oes ekl (World Bank) Beants st
urgsmiy upilu 3aig sratss smisImE s GiLbe )b ag?

(A) eorsECgpmb (B) Gaell. .umieium

(C) GCaprerig (D) Ggafianmr

(E) eSen. Qafwelima

n a1 GR1P/21
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56. 'The term biodiversity indicates
[ﬁf’ Species richness and genetic variation

(B)
(C)
(D)
(E)

Species richness and habitat diversity
Cenetic variation and diverse ecosystems
Species richness alone

Answer not known

Usbgguflwn ey 2 ulifiudmowib e ush i Haug

(A)
(B)
(C)
()
(E)

Eenalsapenn onmd wiugy Seuguin
Wenitlagpenn whpb ampeli U usmowib

g Gaipiun( whmih Udeens sipaannli s
[Byen#Eapenw wi (B

eblen. Ggflwebldame

57.  Kidney stones are formed by the Preeipitation of the following chemicals

1.
I1.
11
V.

(A)
(C)
(E)

Cystine

Oxalate

Uric acid

Sodium

Iandll (W, 11 and I

I11 and IV () I 11, NI and IV
Answer not known .

g @remuer Gunlsdr ugaugflan abad Aplos spesr e meaurdanmen

11

111

V.

(A)
(C)
(E)

GR1P/21

Hensia e

SmaGan

b TE BiuSlenily

Gamg winb

1wy 11 (B) L, II wimpin 111

I g IV (D) 1 10, III o TV
dilenL Cgfwehldena



58,

59.

The colour of the skin in ripened apple, tomato and grape fruits is due to

accumulation of
(A) Carotenoid {B) Lycopene
Qe Anthocyanin (D) Ethylene

(E) Answer not known

LS mldle, s&srefl ndpon Hrm_amedidar Gereldr flndd heé srpanb
(A) &Crmligemij . AB) erwsGmmSen

(C)  Cpresuiaian D) epfein

(E) efe Gafweiidens

Single cell Eukaryotes are included in
{A) Fungi (B) Monera

(S} Protista (D) Archea
(E) Answer not known

gheps Grd L CafCum Gisd Beuhpd ot o dsfng?
(A)  Enens (B} Qumafgr
(Cy yGomiigem (D) yiradur
(E) e Gafweldeare

In the Haber's process for the manufacture of ammonia
Finely divided iron is used as a catalyst

(B} Finely divided molybdenum is used as a catalyst

(C)  Finely divided nickel is used as a catalyst

(D) No catalyst 18 required

(E) Answer not known

Gapui Gewaopenpaild, subGorefiur sumisseda

(A) Apgsasenssluc e @mby sllemenybduns LwearuRdpg

(B} Hp gedasearrisiin c wrelllnSieemd shleanyissluns LoapEng
(C) &Apgedsemdsiul L Héao slmeansfluirs uwean Gdns

(D)  eps ey sdub CreamauBafldana

(B) aflen Ggflwetldens
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61. What are isotones?
{A) Atoms have same number of protons but different number of neutrons
W" Atoms have same number of neutrons but different number of protons
() Atoms have same number of protons and neutrons
(D) Atoms of the same element with different masses
(E) Answer not known

s CarC_ransar eraim e wimane?

(A) ess ybomioren eramefiSensuh wrpoce By gran  camefiEesLb 2 en
o ) 5 T

(B) iz S g earafisasyn wrpucl. yComiore semafiiSamsuh o aw
A 5T

(C) s uGomimer wDmid Bl g eTeReilfanGiiD R el S @nisaer

M wrgul Bepuenw gy safliofllen o gpesd

(E) sl Gafluaiidama

62. Silicon is one of the best known semi conducting material. As its temperature rises
more, it becomes a better conductor. But the temperature at which the silicon gets
permanently damaged i=

(A)  100°C risoec

{C} 200°C (D) 250°C

(E}) Answer not known

Adlgsnen, Hoiks Sfuouce (seps sgdsalls geprEn,  gan Dadudlens
siflafsmsiie s Hops susHurdng. sy o Guiufoodd Hellssmen HlyEgoons

Ghawiallpiugy
(A) 100°Ca (B) 150°C o
(C) 200°Ca (D)} 250°C &

(E) eflen Gafluctidene
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63. A rock containing the fluorescing calcite is illuminated by ultraviolet light, Then, the
colour of the rock seems to be

(A} Violet
{(B) Blue
(C) Green

Ry Red

(E) Answer not known

gefl e flogd srdes e s Qerar. gm ures upemsT geflurd geflrlssiuins.
HUGUTg, unenpuSen Bmwrss Cardnmeus

(A)  mamn
(B) fabd
(C) usens
()  Feuoy

(E) eBo Gafluedidamea

64. Raman effect is scattering by

(A) Pure Solids
(@ Pure Liquids
(C) Pure Gases

(D) Impure Gases
(E) Answer not known

@ rmoen shlevire aammas geflsdlgpd

(&)  sndewnwrer L O@umml safld Baggn geladisnd
(B) sniewwura Sreuksafld Ssgn gefsfspa

(C) gnieswwren awmyssaia Sleugd geléfapd

(D)  gniewwupp cumybseiid Baupb geflisépsda

(B} eflen. Emflustldama

n a5 GR1P/21
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65. The common table salt is
M Compound (B) Element
(C)  Mixture (IM  Alloy
(E) Answer not known

umgy Guens 2 Oumansy)

(A) Csfhoib (B) mafion
(C) oo (D) e Cansissoena
(E) efe Gafwelioamen

66.  Which of the following statements is / are true related to COVID-19?

(a)
(b)
(c)
(d)
(A)
(B)
(C)

Adding pepper to your soup prevents COVID-19
COVID-19 is transmitted through houseflies

56G communication networks spread COVID-19
Sun light does not protect oneself from COVID-19

(a) and (b) only
(c} and (d) only

{c) only

& (d) only

(E)

Answer not known

Gangil-19 Qgmuiuren £psrgmd sppeafia sflune sapan/ s hpsamar Gaiay @aiwayih.

(a)
(b)
(c)
(d)
(4)
(B)
(C)
(D)
(E)

GR1P/21

Emb L sgndlulld (@) Bag Cemuugmd @F0rmi Agmpenn Hssemb
el g6 e dren FESET apenons EEGSTHEY Lipay
5G Qeremang Qgm_im aussadian ppaors Carellc -19 uranb
@i el rreueany Gamefil - 190 Bmbg Lngsnssns
{a) wpmb (b) wd Hub
() g (d) wl B
(e} o {Rub
(d) i B
efilenc. Ssfweldema
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67.

B8,

On rear wheel drive cars, with the engine in front it is a common practice to weigh
down the trunk in order to increase safety, when driving on —

W ley roads (B) Muddy roads
(C) Hill roads (D) Plane roads
(E) Answer not known

gpeuss Eupdnd Gararm. G sday Glusd smseie urgsnlilhars el sawn
genpliug ais ugdilile gl Bagbans -

(A uvellsslg sraaser (B) Conms sramamer

(C) wewens srenspger (D) swga sraawsda

(E) el Gpflucdiens

With whom ecan we associate the following quotes?

— “Be Educated, Be Organized and Be Agitated”

— *1 like the religion that teaches liberty, equality and fraternity”
— “Life should be greater rather than long"

(&~ Dr. Babasaheb Anibedicar

(B} Thanthai Perivar

(C) Karl Marx

(D} Mahatma Gandhi

(E) Answer not known i

Sipsngpd eraum e —@6s Cudlsndraamen ﬂ;.rrl_.ﬁqumﬁmmb?

~ “mevefilufla) Gump, eniplurs gengy Srer, SeibCsng”

— “mren el mIbLD FTEE SEHHTD, foggann, sGansrigan aduapan CurBssn”
= “mumpsas sranug wfliugrs Gimés CaamBCun gaily fanorangne "

(A)  Cmdur umurstil sabGugsmt

(B) ssens Gudlumt

(C) =mnid ibmideis

(D)  wsrgorsnsd

(E) sflene. Qsfwshidenso

a7 GR1P/21
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§9. Specific Experiments :

1. Blue Litmus paper is dipped into hydrochloric acid and it is changed into
Hed colour
2. Blue Litmus paper is dipped into oxalic acid and it is changed into Red colour

3. Blue Litmus paper is dipped into sulfuric acid and 1t is changed into Red colour

General Law : Acid is turned into blue litmus red. It is called

Heasoning.
(A) Deductive (B) Critical
(C) Everyday @ Inductive

(E}  Answer not known
Apdiy ufGersenensdr :
1. foebios greer ean G @Gamfls sflekdd paamssrd, Sig Haiuns wrpb

2. B el ineh grener sy dareid sullagdo seaisnd, g Haliuns wryo
3. o dllnd grear 5pg Sflwfid peenisnd, s faliurs oo

Qung i @ sfewreg fo Sluwd greem HAwiurs orHob. B

ke Hlsd e ien s .
(A)  ugpsd (B} menparggin
(C) SHeanpCgngid (D) Grgssd

(E) eflan Qafwebldas

70. Among the following whom can be considered as “an intellectual who anticipated
Dr. B.R. Ambedkar by two generations™?

M Ivodhee Thass Pandidhar (B} Raja Ram Mohan Roy
(C) Ishwar Chandra Vidvasagar (I} Jyothi Rac Phule
(E) Answer not known

Spsramrueuisefld wm “Lr&_f BR. swlusseny Boanl Sooap@mpsenss para
ar@iCnradu sifeEn wallst” aad smsuuBpmm?

(A)  Gwrksl sme L 5 (B) grggrgmb Gumse gm

(C)  rreveur sEly elGwmenan (D) Gm:rﬁu'rrm LGeo

(E) eflen. Qafletidienc
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T1.

T2

73.

Name the Chief Minister of Tamil Nadu, during Anti-Hindi agitation in 19657

(A) Kamaraj (B} Rajajn

(@ Bhaktavatsalam (D) Sathiyamoorthy

(E) Answer not known

1965 o @iEf ey GumpmL o pe g Gurmg llbem g d wrt apssvssnsagna §)nhHsrT?
(A} smogrgg (B) gmgge

(©)  ubgasism D) ssHunpisd

(E) dlan Gefweldama

Thanthai Periyar passed resolutions for the welfare of the women in the
Suyamariyathai conference of

(A) Madras (B) Coimbatore

(C) Salem e Changlepet

(E) Answer not known

spens Wufium swwfluras wipm_gd Buerssfla pogyssrs Hlomsd Fuppliule
b

(A) Qulgren (B) Camubugsst

(C) Geaib (D) Gelsdul ({

(£) dllen Geflweiiame

Thanthai Perivar referred as the philosophy of Self Respect Movement to

(A) not having belief in next birth

(B} not having belief in God

(C)  there was nothing bevond sexual pleasures

Q" doing a thing which one believes to be right on the basis of reasoning,
thereafter, if any correction is to be made, correcting the mistakes on the basis
of reasoning and also having the mindset to accept the implication of such
actions

(E) Answer not known

seng Eufwmgrd swonflurens Budsisd sgenh erand mpiod L g wng?

(A) om SolSdh podsas EBdoamod Eimlug

(B) Eenpesan bgy s Bdens Gdamnd Gimiom

(C) Spfeugfie Coanangy gennl Edeaa aeap &S5

(D)  usssdelean mplumidld sesg sfduwan mbuywes Csleg. ey
Gadigdan  gapsa  Geddda ueisiiis Sosgfslsiaag, Gogub
SteLehlenaaysend o DI&EGSTATIEHD e LILIThiE;

(E) dfloc CefludBdaa
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74.  Who presided over the first Madras State, Self-Respect conference?
& Soundara Pandiyan (B) Dr. Subbarayan
(C) M.R. Jeyakar (D) EV.K. Sambath
{E) Answer not known

apgernang Geenaes wnfla, swunfutmes wenm’ s s gesenGuhm s sfuef wm?
(A)  Ceanbfly Lnmamg e (B) Lmsiir scimymoedn

(C} enb.gh Qewbsi (D) el G sbus

(E)  eblen Qgfwealleenea

75. Match the lollowing

(a) Swarajva 1. T.M. Nair
{b) Justice 2. T. Prakasam
{¢) Dravidan 3. ThruViKa
(d) Navasakthi 4. Hﬂi_thavm:hahlm
{a) (b) () (d)
Ay 1 2 3 4
By 3 4 1 &
2 1 4 3
(D) 4 3 2 1
(E) Answer not known
&iheaim_aupenm Clmmbge :
(a) swigmigum 1. .. GTLD, LT
(b) mmevge 2. . Srsnsb
(c) Eonell s 3. Smels
(d)  pesdd 4, ubgabsab

ta) (b)) e} (d)
(A 1 2 3
By 3 4 1
(C)y 2 1 4
D) 4 3 2
(B) efen Qsfushlsheme

el 0 BA
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76. In 1916 “South Indian People's Association’ was renamed as
(A) Home Rule Movement
(B) Madras Association

-@"’ Justice Party

(D) Dravida Kazhagam

(E) Answer not known

1916 ib e ein(® Gperafiffin) s spsn erdusungy Slanent Sapssuuc L g7
(A)  peranmi Al Guba

(B) Gleammen aisb

€ pRts A

(D) Syref sypsn

(E) eflenc Qaflwuelldeme

77. Which political Association became known as Justice Party?
{A) Home Rule League
(B) Home Rule Movement
W South Indian Liberation Front
(D) South Indian People's Association
(E)  Answer not known

i siflwd g flls Aurs woflug?

(A)  Gapmb meb &

(B) Capmb mé apaGinas.

()  saup Bemswen ofluGradn Sam’

D) ey Geimgwdn unbide sCsrflGusdr
(B e Ashuddaw
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78. Who first introduced Cartoons picture in Tamil Magazine?

(A)
(1)

Ramnath Goenka
T.V. Ramasubbaiyer

[GP" C. Subrahmanya Bharathi

(1)
(E)

G, Subramanya Iyer
Answer not known

apgen (pgelld SEGESILLLRiser U8 Blsbeafls suflapasiubssiuet wrt?

(A)
(B)
(€)
(D)
(E})

FinbErS CamuRisT
T.V. gmosCenuiLif
C. alnSywnenu Lirgd)
G. sCnSpuwemu mu
ehlent_ Qs fluiciiome

79.  Which of the following idea does not fall within Thanthai Periyar's definition of

Civilization?
(A)  Accepting every religion
(B)  Trying for others also to get whatever good one has got

(C)

The total progress of all human beings

{IW' Progress based on the scientific inventions of today and making life pleasant

(E)

Anawer not known

praflsd upiu ghas Cufiunfiar wemnuepsed el uLng sEisrbe wng?

(A}
(B)

(C)
(D)

(E)

GR1P/21

@i s b ghnsAsringnsd

pren Ganar. pemenosdn wHpaisEssEh Uuduih aosdlone pudfsmar
GiopClsmdraus

SHENENEF| Wl ETSEnEmOTaE ApETGaDDiD

Berapy sfldve sar@lsouseflamd gpubl patapoaps: Geflaoura
BUITLpE R EILILD

Hen Qeflwslldama
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80.  Who started the journal namely ‘Dravida Pandithan'?

81,

(A)  D.John Rathinam
THE QUESTION AND ANSWER ARE TO BE
(B) A.P. Periyasamy . PLACED BEFORE THE EXPERT COMMITTEE

FOR FIMAL DECISTION.
{(C)y Pandithar Munusamy
(D)  Irattai malai Srinivasan
(E) Answer not known
Hyrebl L gen erdn LS Adesemw abdigseat wri?
(&) w. ggrel piSand
(B) .9 Quflwsms
(C)  wvamesh apepsmd
(D)  Glrlen wena Saflcunsen
(E) dio Qsfwsidhema

BaCadall wgd ala @pg) gy allgars
adgipl g ela pa @wisiu s daayy.

Name the women leader who participated in the Neil statue satyagraha in
Tamilnadu mm 1927 -

(A) K.P. Sundarambal
(Bl Padmasani Ammal
{C) Muthulakshmi Reddi
(D)  Selvi Durgabai

(E) Answer not known

sillpsgda 1927 b gand. fe o pa fow ssfudys Cumprl gfe sahy Dardm_
Clussrioet | Slwndl) -

(A) Gs.9. sEEymbLmEr

(B) udwnsrall sybwmdr

(C)  éselsdb Gy

D) Qecefl gissmimi

(E) silen Qsflwaiidama

43 , GR1P/21
[Turn over



82.  Which one of the following statements isfare correct regarding Chenbagaraman pillai?
1. He hailed from Kanyakumari dist. of Travengere State.
2. He started Bharatha Matha Valibar Sangam
3. He married Laxmibai of Indian National Army in 1931,
4, He joined the German Army and fight against the English in I'world war.

(A) 1,23 are correct 4 incorrect

(B) 1,2 are correct 3,4 are incorrect
(C) 1,3.4 are correct 2 18 Incorrect
w 1.2,3.4 are correct

(E) Answer not known

Sipaumib sappsafis Qrarusymod Sdener Lpilu sfiure sbm/sppsar ama?

1. et Ameuriust s saaflium@of oran L Sas smibse.

2. el urgs wngr eurellui sisd sreghib sienolieny Gerpmetissnt,

3. Gei @iy Csfu mapadas emps ol slurmy 1931 & Smoend Hslm

(A=

4, et Ggrorelu vecdd Goits wes cwstbunfis ndCoumss adins
GLmymg. .

(A) 12,3 &M, 4 sauprang

(B) 1,2 sflurang 3.4 geupneng

(C) 1,34 sflwreng 2 wl (G geuprang)

(D) 1,2,34 sflureng

(E) e Quflicfiaana

83.  Which Woman freedom fighter participated in the Madras salt satyagraha?
{(4A) K.P.Sundarambal (B) Muthulaxmi Reddi
(™ Selvi Durgabai {D} Padmashimi Ammal
(E) Answer not known

e e Bgeans Gurpml L Guamoaf Guolgres ey sHundlgssBe swhg Gsmam_ni?
(A) Gs.9. spgymburer (B) ppi&ges Qplig
(C) G mirdsmumi (D} uswrHlaf subuwmer
(E) efen_ Qafluehibemen
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Which one of the factors responsible for the South Indian Rebellion

(1) Company Reforms in the palayam
(i}  Economic exploitation and heavy taxation of the company
(1ii) Famine in 1798

{ivi Fregquent wars of the company

(A} (@) only (B) (i1) only

(C) (i) only Qeth), (i), (i), (iv)
(E) Answer not known

Spasam srpafsafis Aaaafipdu Aeisdlés srramons Seonbss a7
1) Lmenemurisafids sbGualilar £ifimssnad

(1) sb@ued Qunmemmgny sy whmpb s g wren aufl ey
(1) 1798 & ghulL gD

(iv)  sbduef pLgbul g Esnwiman GumiasT

(A) () b (B) (i) w B

(C)  (iid) wifib (D) ), (), (i), Gv)

(E) e Ggflwiechiieane

" : t these three for aye to rulers of the land belong”.
In the above Thirukural the word “These three” means

{AY Education, wealth, bravery

(B) Virtue, wealth, bliss

(G}-l" Sleepless promtitude, knowledge, decision making

()  Love, Decency, Affection

(E) Answer not known

@bnpangud

Rrssn Eleavanmen Leuhs.

Ciopangmih Smsenetc @ bQumb Bbapamn’ erarggn Derd gdlouema
(A)  ssell, Qadanb, ey

(B) o, GQummer, @b

(C) grusmanwn, sdefl, gewfleay

(D) mqeny, wery, Limad

(E) el Qfluctama
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6. Whom does Valluvar eall a fool, though he is learned and scholarly?

{A)  One who fears to talk in the assembly of the learned
(@ One who does not get along with the society

(C) One who fears to go to the battlefield

()  One who fears the rich

(E} Answer not known

uasnmb yflelleomsnt eren eudngseut wnenpF s BAlpTT?
(A)  soGont senaudfia Gus aygrsdlerpaueny

(B) eosiCanl phsi pssrsaimy

(C) CGumisseriBpes Geda siErsdamaay

(D) Gedapsmrs sl siessddpeaeny

(E) el Qeflueidene

87. “ These four a light of dreaded kings reveal” What are the four virtues
of a King according to Thiruvalluvar?
(A) Creation, Production, Protection, Planning
(B) Morality, Wealth, Happiness, Eternal dwelling place
(@”” Beneficience, Benevolence, Rectitude and care for his people
(D}  All the above
(E) Answer not known

. remgEn o oem winemmb Geupsirds oil”, crar cudrgneuit sraupens Geufhs e
e mpdlpni? .

(A) Bubpe, wlLd, sndge, snEsassse

(B) sipw, Qunmer, Elanuwn, i

(C) QGaren, smevaw, B6, serihs @ysamars STESD

(D) Cupsen senadgb

(E)  eflen Qgfiuafidene
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88,

What does the following Thirukkural reiterate? “Who with deceitful mind in False
way walks of covert sin, The five-fold elements his frame compose, deride within”

("Vanja manathan Paditrolukkam Boothangal

Aainthum agathe nagum”)
{(A) False respect (B) False truth
(@ False behaviour (D) False pretence

(E)  Answer not known

EUELS DERSSTER Lig DEDNOpEsD LisRisE

BEHID SEECE pEb - @6 adupssiuBag ag?

(A)  Cumel nfnens (B) Gunall & ssrenin
(C) Gunell gopssn (D) Gumel migLiy
(E) edflen Qsflwelidma

What are the facts related to Hand Sanitizers?

(@)  most of them are acid based and not aleohol based.

(b)  they are flammable.

(e}  they are effective against spores.

(d) it iscorrect to nicely wipe off hand sanitizer from the hands before it has dried.

(A) (a) and (c) only @E) only
(C)  (d) only ) (D} (¢)only
(E) Answer not known

g spHufiiore (Hand Sanitizer) Qgm_funes o ameownaemens Caivay Gsiayb :

(@)  Gumburormme sfe siglusL SNibLea. SHSNNG Sl siks@e
BHele,

(B)  sieneu menmns erflibsag wena,

() e fgadiangaienie aflyren Qewgnssb Csmam_ e,

() meseflo oden ‘wsssdsfiiumneg eamb ety sgom paprs assadmis
HenL g sflwmenGlignm Eewic o mn.

(A} (a) wdpnd (e} o (Bib (B) (b) wi @b

(C)  (d) w(Bid (D) (e} wlHn

(E) e (g i seildrana
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9. How does Thiruvalluvar guide us to overcome trouble?
(A)  Accepting trouble
(B) Fighting trouble
(€ Giving trouble to the trouble
(D}  Feeling Remorse for the trouble
(E) Answer not known

F

gienLgeng srésauny Qeude Galam(Bi ardn Smesdinasai QEAULG R
(A) g G ghpstlsrdignsd

B)  ePibgn CummGss

(€)  peusfibe genaib denbiss

D)  gepHen Cung aimbess

(E) dlec Qsflusildaa

By, " Irandum Thangaa Viyanulagam
Vaanam Vazhangadhu enin”
(Though the wide world lease and If heaven its watery

treasures cases to dispense)

What are the two good deeds that will not happen according to this kural?
(A) Charity, Love (Dharmam, Anbu)

(@ Gifts, Austerities (Dhaanam, Thavam)

(C)  Penitence, Pleasure (Thavam, Inbam)

(1) Virtue, Money (Aram, Porul)

(E)  Answer not known

L]

BEremBib ks slluguensd

RUITEELD BUPTRIETE) erailen’

Gupsraph Smé@nar creasiimansd ben. Hunrg e s ndng?
(A)  shob, seny

(B)  gmamb, gauld

(C) e, Eemun

(D) b, Suimgwen

(E) cilen, Qpfluehidme

GR1P/Z1 48 0



92,

83,

What are the symptoms of COVID-187

{a)
(b)
{c)
(d)

(A)
(€)
(E)

Fever, dry cough, fatigue
Loss of taste

Sore throat

Breathing difficulties

(a) only (B) (b) only

() only CQ}#(EL (b), (c) and (d)
Answer not known

Sipangmb sfiEdleaiida Canell -19 Wem_furarsne sranau?

(a)
(b)
()
(d)

(A)
()
(E)

smiFso, sup (B B, Gamrey
sava Sifluyh Spes Bdwmod Cuireug

Qg meran,_ euel

apée el paudla Hywob

() o Bib B oo

(d) i Gib (D) (a), (b), () whmb (d)
eflen Gaflucllidena

Pick out the effect that is not related to the impacts of Earthquake,

(A)
(B)
(<)

Fissures
Collapse
Tsunamis

(R)#* Depression zone formation

(E)

Answer not known

waibu undliusGeam® Gem fupp efanersney Ggiley Wels.

(A)
(B)
(C)
(D)
(E)

L5 T

HEOPIOLLIDNGE

e LSl &

S|P e anb o Eelng -
eflen Bgflwiebldana
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94, Whom does Valluvar refer to as blocks in the kural
“Arampolun koormaiyar renu marampolvar”

(“Though sharp their wit as file, as blocks they must remain..”)

(A) Those who speak useless words
fMPh-I}EE who are void of humane courtesy
(C) Those who do not have love in their hearts
(I}  Those who covet others things

(E)  Answer not known

"y bGLImgD saiawnws Greggh wrbEumdean”

i Gurenpautse ey aserigneu g @bl Luioet wmi?
(A wwellé Qand Cusuei

(B)  indad wer ) Bdengeal

(C) ssgfa sy Baonsea

(B Gpfld Quneesis et

(E) eHan Gafochldana

45.  According to Thiruvalluvar “what is friendship with the good’ compared to?
(A) Having friends who make our heart happy
(B Having books that give perpetual delight
{C) Havhg a face that shows anger
(D) Having a staff that measures one's friends
(E}  Answer not known

vl Elsamun L e wimant Ggmo iy erengi) Guranme aar Sinasdnanant sapslnmr?
(A)  esms prug Cunsims

(B)  peflsGanmn mnd pud Curdnmg

(C)  s@ézm sniEBib opsnd Curdampg

(D)  Somengey g seriuGsn Gand Curdame

(E) eflan Qgfluaideame
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96.

a7.

The saying “Thirukkural” has a balanced religious quality is because

People from all religions say that it belongs to them

2. Because people who say there is God and people who say there is no God
accept it whole heartedly

3. It iz beyond Type, caste, religion, class
4, Because it writes about ethics and knowledge needed for human race,

{A) Omly1isright (B Only 2 is right

(C) Only 3 and 4 are right (Rl the above are right
(E) Answer not known

‘sww BRGleeu Lany Ganem g Smisndr erdnint F)smmfHipss srysms

1. ETERITE S Seumin @ enb Bad eremy samib SAnlyl ubpsrd

2. sLaer e aauad wl Gulah Edaamn aaruammDd o ek gn@Eh Aol
Guppsrea

3. Rond, andl, swwib, g srommeuhiii@ Slunhul L s

4. weails Eheeddbsl Eumﬁmmw il sflaymds v Bagnd

(A) 1ol Bnef (B} 2w (Bub &

(C) 3 wamns 4w GHio of (D) siemengasn &1

(E) shlen Qaflueldemea

Who is the author of the novel ‘Manalveedu™

'-'M Anuthama (B} Bama

(C)  Ambai (D) Indumathi
(E)  Answer not known

‘e 685" srenn preuabian L Aflwit wimt?

(A)  mgiggon (B) umon
(C)  subann (D) @igiod
(E) eflene Qaflweiicoancy

il ' GR1P/21
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a8,  Which of the following book received Sahitya Academic Award written by Melanmai
Ponnusamy?

V Minsarapoo

(B) Kalmaram

(C)  Ahavathukku adutha veedu
(D) Appavin Sinekidhar

()  Answer not known

Cuanarano SurdrgpsmBuSer srddy marQsdl udls Qupp ven Ly ag?
(A)  Sememiiyg

(B)  scuomb

C) msmuines =053 60

(D) suneldr ACaR st

(E) <flen. GagRuwsallsenco

99.  Who wrote the poem that has this as the opening lines
— Anbu Sivam irandenbar arivilar?
{4) Pathirakirivar
(B) Pattinathar
(C) Bharathiyar
(Nje** Thirumoolar
(E)  Answer not known

‘sjenLy feulyer Qe giledieont

— eremtd lelgsm mhighiD LML enenL) LImig Wiaui wimi?

(A)  wgEodiflwmy (B)  ulgenggm
(C)  ungBwmi (D) Smepen
(E) efen Ggflueldaama
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100, Which of the following epic describes the significance of Thamizhar's musie?

M Silappathigaram

101.

(B}
(C)
()
(E)

siflipiaatien Gleaed AplnSman aBEZIHED sSmubluib ag?

(A)
()
(C)

(D)
(E)

Manimegalai
Neelakesi
Kundalakesi

Anszwer not known

Helsgsrmb
L] G D& e
sl
etor_euGad

sian Gsfluishldena

Who among the four Navanmar made his heart the temple for Lord Siva?

(A) Kannappar
(V Poosalar
(Cy Vasyilar
(D)  Sambandar

(E)

inangEmd Falgeses Ganulia sl HmuU@inmm wiri?

(A)
(B)
(Ch
(m
(E}

Answer not known

T AL
LS et
eumudeons
SRS

shlen Glgfliusiidaa
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102. What are the characteristics of a classical language?
(a) It has an independent literary tradition
(b) It has a large ancient body of oral literature only
(c}  1thas a large and ancient body of written literature

(A)  (a) and (b} only (B} (b) only

(€)  (e)only @ Ta) and (c) only

(E} Answer not known

g GlabbiomfuEea uem s & pargmb crans creuhang @hllaE_smn?

(0) sgdfoona/galss sleriisib Feasdiu wry

(b)  Qumd vewen i whpd emiGonf@aore @oddu umbufuies wC HGW
(el el

(€) (Gumb wemen s whpib sppsliuc L Fasdu urmbufuges Aerem g

(A) ° (a) wdHmb (b} wi b (B) (b) wib
(C) (e} b (D) (a) wpmub (&) L HD
(E) el Glafwstidena

103.  Which characteristic is expressed in the ‘Perumpaanatru Padai' Verse?
("Mahamurai mahamurai nokki Muhanamardhu Aaana viruppin Thanin reoti")

Az the Mother willingly watches over they Child, Himself stood in the opposite
direction and saw '

(A} Charity (Kodai)

(B) Valor (Veeram)

(C)  Motherhood (Thaimai)

@ Hospitality (Virandhomputhal)
(E) Answer not known

“wsapem waapans Grrad (psenimy Sy ehlmodenr greflen prcag"”
= @S mb U mCsen. wre gl sriuer GesefiiuBAng?

(A) Garesi

(B) efipw

()  smienn

(D) eimEGsmbLsea

(E) el @gflusiidema
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104. Aecording to the evaluation report of Niti Ayog related to Minimum Support Price
(MSPF), which of the following statement (s) is/are correct?

(a)

MSP is declared before the sowing season.

(b)  The idea behind MSP is to give guaranteed prices to the farmers and save
them from price fluctuations.

{e)  With globalization resulting in free trade in agricultural commaodities, it is not
important to protect the farmers from the unwarranted fluctuations in prices.

(A) (&), (c) only

(8" (a), (b) only

(C)  (b) emly

(1) (c)only

(E)  Answer not known

Fé g lurdfen gepEsuls arey e (MEP) Qpr_iunen wHSH sifidasusn L
fipsngmin s s Do e d s afluramglsMunsme sy pbn? ¢

(a}
(b)

(e)

(B)
(€)
(D)
(E)

"ephELLs yare) dlme” dosius srusgfbs ety sfldlésiu@n
sl il ot Cprisd  dasmdsgie o sbsransh
steflIug) @D,

R asLBTEERTE FHUL O FiE SELLDD aibssbben diwmrans dasi
Qummérsatien  cflmau®s ghuPid Camawups gpp Bossdsale  Gobs
sflessmilaaa anlug apaflunde

(a), (c) wn_{Bub

(a}, (b) wi_ G

(b) 1o b

(e) wiBib

eflen. Qs flelidana

55 GR1P/21
[Turn over



105. According to Nobel Laureate Abhijit Banerjee (Economist), what is the only solution
to overcome the economic pain in the short run in the wake of Covid-induced
aconomic crisis? :
(A) Putting more money in the hands of big corporates
(B) Giving more tax cuts for big corporates -

(" Putting more money in the hands of poor
(D) Giving more tax cuts to the poor
(E) Answer not known

Grrud ufls Gupp Qurmemsry =iflest 985 Cvaidlldan maplue, Garelll
Quedlgrppra Qummengny Qpméss THolfamy. @i CpEssgLTd ghHuCGerr
Qungermgy ey spdu st Suglue ld sLlugdere Bieurs Sl fmpaigl Lrg?
(A)  Qump Ppaeisefia mssafle sfls L Qsran@ Caflug

(B)  Qugs Bmaeriisenss il @eapliuy Selug

(C) ey el wiseilan mesafls sfs vamn Ganan® Gemiug

D) gy aoflu wésigée afigmpiy Gy

(Ey sflen Gaflushldana

106. Regarding the Indian economy, which of the following reflect, unprecedented
suspension of cconomic activity in the first quarter of this fiscal (April-June) due to
. the Covid pandemic
(a) Contraction of around 50.3% in the construction sector
(b) Contraction of around 39.3% in the manufacturing sector
(¢)  Contraction of around 10% in the agri, forestry and fishing sector
(d)  Contraction of around 5% in the Trade, hotels, transport sector

o () and (b) only B) (a) and (¢) only
(C) (b} and (c) only (D) (b) and (d) only
(E)  Answer not known

Bifu Gurmemsnydes Qunnss awr, Carddl umpGstpond Gis HHwndmgdn (pge
snd Ll (gure - gPear) Cummemany L smasafla opany auGuTgh Eaans
QLmib apLsd gEUC LS.

Spangmib mppsafs aoa Fiks o enennay Srfudaddapen?

(a) s Huran vefisefid swmt 50.3% smisn

(b) e pusd gendis swr 38.3% s@main

(€) Ceemamenin, eueneliue opmib Beraier o pugHubia swm 10% smasn

(d) afggan, gigd dHS eamasb wppb Curkgaurig geopaefld surt 5% smésn

(4)  (a) wppn (b} w B (B) (a) wpmgd () wifm
(C) (b) wpmd (¢) wiGid (D) (b) wipd (d) i G
(E) eflen Qsflueahdena
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107. Which one of the statement is incorrect regarding the mesolithic period.
1. It is the Stone age between Palaeolithic period and mesolithic period.
2. They used tools of made up of Keny Small Stones
3. The Theri Kadugal of Thirunelveli region belonged to this period
4. This people burned their Dead bodies,

THE QUESTION AND ANSWER ARE TD BE
PFLACED BEFORE THE EXFERT COMMITTEE

(A) 1only FOR FINAL DECISION.
(B) 2only
(C) 3only
(D) 4 only

(E} Answer not known

Epsar_masefla el b sparad updiu sbpseaiia saupreng ag?
1 @ésrabusypu spenasgsss ufu sperassées Bel oulL srab
2, Gibnssd Bad Aflu shemrate smellama vwauBiBand
3. frRnatad wranll sgdd srantupo Caflé snpad Bous sparasas STTBENS
sEaOUEEng,
4. @asre wisd @nisaisamen afipgen.
BéCadall wpms el Spg) gy allpars

(A)  lwi@o g gpell g @adsiuL e dagy.
(B) 2uwifb
(C) 3wl
(D) 4olGo

(B) eien Opfusciicene
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108. Mateh the following

(a)
(k)
{e)
(d)

Backwaters
Canals
Dug out Canoe

Dams

(a) (b} {e) (d)

(A 4 3 e

(By 3 2 1 4
) 4 2 3 1
(D) 3 4 2 1
(E} Answer not known

(o imymdsies -

(a) &l =
(b) &nesumis 2
(e} @Eblsrdamii 3.
(d) -sima 4

(A)
(B)

(C)

(I
(E)

GR1P/21

4 3 2 1
3 2 1 4
4 2 4 1
3 4 2 1
aflen. Qsfluaiidaa

1. Linking up of river system for irrigation

Used for erossing broad river

N

Connecting one water way with other

4. Used for some limited navigation

g eem Lrsarss hars LwduifEs
Cufly gy denp 8L Es
i B aflaw winCam Gmenis

@méu suaellh@ gpe B Cumbganis

a8



1089.

110k

Choose the correct statement related to recent Bank mergers in India.

(a)  Large Banks will be able to borrow more from the market and thereby help
the economy revive.

(b)  Bank merger will lead to increased operational efficiency of the banking sector

(A)  (a) only @®yTh) anly

(© (a)and (b) ° (D) neither (a) nor (b)

(E) Answer not known

Adwreflss sfu sredesfld pacQugn wid Beeriy Ggnuiume  asppsata

siflwmensng Ggiey Glaliayb,

{a) Qufiu andsa ssostldmbs sfsors s wrmgh Sod QerEr_manns

()
(A)
(C)
(E)

Elimigib evenugmed, Qummermsnyib B dLBéstufib.
auiedl Blaemiy, uuds gaondla Geuddpena e wmigi,

(a) 18 @i B) () o Gib
{a) b (b) (D) (a) Gevera (b) Baena
aflam. Qafluwalildamea

Who stated "Man is born free, self Respect is his birthright, Social Justice ensures
social equality”.
W Thanthai Periyar

(B)
(C)
(L)
(E)

B G Tilak
Kamaraj
Omanthurar

Answer not known

“wallgen sgpdpors GApsdprd, su o wluneng seuefien Gpoufien, supsfl suwe
FnEFASHS DB UESED" erany Sodlua w7

(A)
(B)

(C)
(D)
(E)

abeng Gl
urasisrg] Seost
&MLOJmER

GROBERTTT

el Gisﬁu.lnﬂd}mw
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111. Regarding the word ‘Fraternity’ in the preamble of the Indian Constitution, choose

the correct statement(z)
{a) It leaves no room for regionalism
{b) It leaves room for communalhism

(c) It leaves no room for casteism

W (a) and (c)

(B) (b)only
(C) (a)and (b)
(D) (e) only

(E}) Answer not known

@A swfuaemoiGd pagentd LRLBAEILGH *Csmsriganl’ adp Gsmd
@gaLiuinen Epsrggh s pHpsefs sfiurerapaip Caira; Gsiwajb

(a) =y Grmidluanssdie @ weflssng

®) =@ agiuanssSng Guoelsgn

@) =i erPuansiBie B waissng.

(A)  (a) womb (c)

B (b) wifid

© (@) wppi ()

@) (o) wiGid

(E) efen Gsfushimme
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112.

113,

Arrange the Chronological order

1. Champaran Satya Graha

2z Kheda Satva Graha

3. Ahamadabad Struggle

4, Baisaki day

"1 254 B 2-1-3-4
)y 4-3-2-1 D) 3-2-1-4
(E) Answer not known

Spsam_supap sroafi@stiuBigs.

1. smbupren eghum £rmn

2, GaLr sgfwr dgsd

3. s L0EmLImd GUmpmiLib

4. LISTE BreET

A 1-2-3-4 B 2-1-3-4
) 4-3-2-1 (D) 3-2-1-4

(E) el Saflwshldana

Name the biographical work of Abdul Kalam Azad which was written during his
internment in 1916,

™ Tazkira

(By Kadith

(C) Hayy Ibn Yaqdhan
(D) Kitab al-Miraj

{E} Answer not known
1916 g swemger Aapunsgda Gurg Tusiule SUgH somb ergfldn aumpians
fﬂmﬁﬂuﬁ @it enetnen?
(A}  pesdgn

(B) asnfs

(C)  mo @ud wsgmen

(D) Bgi - digeg

(E) eflene. Qaflwelldens
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114. Who produced the greatest work Tarjuman-Qur'an [a translation of Qur'an from

Arabic to Urdu]?
{A) Dr. Zakir Hussain (B} Fakhruddin Ali Ahmad
{MMELLI.EI.ELE Abul Kalam Azad (D) Mohammad Al Jinnah

(E) Answer not known

s @i [Eiagefldar il Comficdimis e oy Cuomfss Geuwudule
QuomfGuwiiy] e isF Hphs LanL i Fenar o mein s e wini?

(A)  Dr. grfio esdn (B) smildan sl signung
(C) Quoemamanm i@ Sommb B HTH (D) ppambuog el sfidneanmpn
(E) efen QOpfluchidrme

115. Which of the following statement is incorrect regarding Moulana Abul Kalam Azad?
1. He was born in Caleutta
2. He was the editor of the Magazine called 'Lisan ul Sidig"
3. He published a journal namely ‘Al hilal’
4.  He was elected the president of the Indian national congress in 1923 and 1940,
(A) 2,3 are correct 1, 4 are incorreet
(B) 1.2, 3 are correct 4 only incorrect
(Cy 1,2 3, 4 arecorrect
ME.E.dar&mnectliainmrreﬂ
(E} Answer not known

Spsan. sppseiia Querana s bawnD Lo 1E udfiur Seumres s s ?
L Comamen siydasmh syeng sdagsratd Snher

Beui ‘ellemin o b SEHE" eran Llﬁﬁlﬂmﬂﬁ] LB @Rl e
Bt sidofeonsd ereinp Geeng Gaefd Lk

@eut Gefu Caflu smedlpevsam 1923 wpgn 1940 gub genBecfid saowumms
CanmCeBas L,
(A) 2, 3 mpgadr sflwimemaney 1, 4 gaymmenaneu

- e Fol

(B) 1, 2, 3 spmadr sflwuraneea 4 e S Seunrang
(C) 1,2, 38, 4 sudmser sflurarenau

D) 2,3, 4 mipeda sfluneeeal Leigy sahy saumnang
(E) eflenc Qaflusfidma
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116. Which of the following day was named to eelebrate the release of Bipin Chandra Pal
by Swadesht Leader of Tamil Nadu.

(A)  Day of Deliverance {By Day of Mourning

'{M Swarajya Day (D) Direct Action Day

(F) Answer not known

Sipsaw. aps prems GOGeEn sherurs efBseme Gelwiin praa sflps sGsH
gencoeuiser oL BB aniv?

(A)  elBgama prer (B) gbe fann

©  sGad Hambd (D) Gmpw pLsuigdens g

{(B) efleni Qafliiehldienas

117. Which one of the statement 1s correct regarding Bharathiar?
7 Bharathiar participated in the Indian National Conferance at Kasi in 1905.
: In 1906 he started Balabharata S8abha at Chennai.
3 He participated ‘Surat Congress' in 1907 along with VOC.
4, He composed the Poem ‘Vangame Valivave',
(A) 1, 2 are correct 3, 4 are incorrect
& 1,2, 3, 4 statement are correct
(C) 1,2, 3 are correct 4 is incorrect
(M 1, 2, 3, 4 are incorrect statement
(E) Answer not known

uny@wneny L Epscn. mipsaiid sflumeg ag?
=L urgBiumt 1905 sndludid e Cups Eifu Caflu amssordls swbs Gansm_n.
2. et 1906— Lnes Ly FUT @D sevoleu Hednaenublies gbuBienmi.
3. st 1907 250b seami (3 (w6 smbflpe sl L ffld a.o. 8l sakg) Candmm,
4, e 'wistoamnfiuGa e un.eme Flupdlusten.

(A) 1, 2 smpped sflwraraeu 3, 4 sabpsd Sauprarana
(B) 1,2, 3, 4 sppser sflurenene

(C)y L, 2, 3 sppsd shwnanae 4 eug sadi geunmang
(D) 1,2 3, 4spmser gaumreng

(E)  eflen Befhusiidens
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118, The Editor of Tamil daily Kudiarasu.
" Thanthai Periyar (B) C.Rajai
(C) Satyamurti (D) C.N. Annadurai
(E) Answer not known

Aeanafl mreflspman @i wgsler g A fu

(A) ghes Quflwmr (B) & gnggrgll

€ epBuepisd : (D) & eréin, siamemmgiony
(B} sl Osfluddeama

119. Name the person who threw a bomb along with Bhagat Singh on the Central

assembly in Delhi?
(A)  Sukh Dev (B) Rajguru
(C) SohanSingh (P Batukeshwar Dutt

(E} Answer not known

Quédfle odo widu sl wapsda b5 Lsifugeda Famahgy Gﬁjw el

aiflen Qo erenen?
(A)  saCse B @rrgee
(C) Cangpen i (D) LCOCsEuT 5

(E} eflen @aflueiidana

120. Rabindranath Tagore renounced his knighthood in protest against.
(A) Home Rule League (B} Khilafat Movement
(G4 Jallian Wala Bagh Massacre (D) August Declaration
(E}  Answer not known

relipSumrd sremi aspe oSy Gefelin gag ulLjog SobsT

(A)  Capmb me o (B) #eomug Guissn

) grellod aramuns LGESTm (D) awman’ sflsms
(E) el QsflueBameay

GR1PI21 B4 a



121. Which one of the statement is correct regarding the Subhas Chandra Bose?

4,

(A}

Bosge joined the freedom struggle under the leadership of C.R. Das

1921, he organised demonstration in Calcutta to protest against the visit of
Prince of Wales

He boyeotted the Simon Commission in 1927

He sorted on the Secretary and President of Bengal Congress

1, 2 are correct 3, 4 are incorrect

(B 1,2, 8, 4 are correct

(C)

(D)

(E)

1, 2, 3 are correct 4 only incorrect
1, 3 are correct 2, 4 are incorrect

Answer not known

Epasin, sipsaic surds spdy Gurmay UpH sfwrar sop g’

(A)

(C)
()
(E)

sunsy shfly Gured, flagr g seweodd @ifu dlGsme Gumm_Lghid
Blemambg it

19216 Gaioed Gleraupst sosssTass wmms UiES Cung sfiiss wpselll i
19276 snsnen sllapmean Blaut Lnssantiggmi

auianer sriudpelid Gewanannseb, semeaTaeb Ul aulifsm

1, 25M 3, 4 gauprang

1, 2, 3, 4 sflwnes mpm

1, 2, 3 sflwner s 4 saypras mogm
1, 3 sflwren sapm 2, 4 Feupres SaDm
ehlen. Qi eldama

&5 GR1P/21
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122. Regarding the Poona Sarvajanik Sabha consider the statements,
1. Mahadev Govind Ranade was the brain of the organisation
2. The Sabha awakened the people of their political rights.
3 It protested against the vernaeular press Act of 1878,
4. It published ‘Amrita Bazar Patrika',
Which of the statements given above is/are correct?
(A) 1and2only
(B) 2and3only

(€ 1,2and 3

(I}  1and3only
(E} Answer not known

et steumpeis saul updl smabda Gands,

1. wanGae Canellhs prawG @ealusssan ppaarurss Gewdd L

2. @esau vasaflan siyflud e fmusaen upiiu SIfivyeriow giuBidus
3. 1878 e (B LsBAflsenss o | dens aBiiss

4. Bleuelussd ‘suvfls ugmit ugflar erergyib LEBREmsanL ey gy
CuGa miOECL arsdugdd sfummae aena?

(A) 1 whabd 2wl Qb

(B) 2 wppo 3 ol @b

(C) 1, 2whpb3

(D) 1 whmb 3wl b
(E) eflen Qaflwehicoena
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123. Which one of the statement is incorrect regarding Gokhale?

1.
2.

(A)

He started “Servants of Indian Society” in 1905

He went in to South Africa and helped Gandhi in his movement against
Colour bar

{Gandhi accepted Gokhale as "Political gura’

Gandhi described Gﬂkhﬂle as diamond of India, the Jewel of Maharastra and
Prince of Workers

1, 2, 3, 4 are correct

(W’I,E,Eam eorrect only 4 is incorrect

()
(1)
(E)

1, 3, 4 are correct only 2 is incorrect
1, 2 are correct 3, 4 are incorrect

Answer not known

Bipscin_ s poeefld Canateamu upll gepre saim erg?

1.

2.

(B)
(C)
(D)

CGurata ‘@i u uaflurent spsin” s seeouamy 190580 gpudgent

Beait G gfssradipe Geam SpGadlou afifs smdula Fevenihs
Liewsnmemm.

s GanaGaew sang srflud gomans’ ghps denam mi

smhdl GsrsGaemu HiSurelda eaeumb, waTTepgomeiean pans, Hamfemanisatien
Eereugedy erany eureriiEdlenmmr

1, 2, 3, 4 spmiser sflwimemane

1, 2, 3 sapgisdr sflwrensoe deug Sadm Haunrans)

1, 3, 4 mpaysd sfhwurama 2ass) sanfy Heumrens)

1, 2 supmsen sflwrarenea 3, 4 cug) SaDQIsET SeummaTg)

eflen Apfiwalidana
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124. Who served as British Ambassador to the Mughal Court?
{A) Bernier (B) Edward Terry
(€9 Thomas Roe (D) William Hawkins
(E) Answer not known

ppammu sirsameande Gy cy grpeirrs veslurpdluied wr?

(A) Eufrafiwr (B) enleuinl Gsfl

(C) smosu Cyn (D) eflcyablwih guomsddren
() el Ggflweiidena

125. Who was called the “"King of the Two Worlds"?
(A) Tipu Sultan (B) Hyvder Ali
(€ Doondaji Waugh (D) Veerapandiya Kattabomman
(E) Answer not known

Erae()) e adheb sireen sy SenpssUufuant wnit?

(A) Sl sdgren (B) eanst sl

(C)  guaim_ngl aunk (D) sfpuimamngw s Qumbiben
(E) denu Gafiweldena

126. What is Density of Population?
(49" The number of peaple living in per (one) sq. km.
(B) The number of people living in 10 sq. km.
(C)  The number of people living in 100 sq. km.
(D)  The number of people living in 200 sq. km.
(E)  Answer not known

wds GErens Glla) erernme eramar?

(A) e emy HGar Bl M eudl&gb wisaellan oraneflsms
(B) 10 sgir 8Gen B Meb cuflismd waseflen aanafisma
(C) 100 smy #Gam 5L fé eudlEsb vssellen aammtisms
(D) 200 sg AGar AU fd adléEib nessflan sammflims
(E) eflen Qefluclicdana
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127. In 1929, at a ‘Self Respect Movement' conference in Chengalpattu, Thanthai Periyar
passed a resofution relating to an important matter —

— In 1989, 60 vears later, Tamilnadu had passed a law in this regard.

— On August 11, 2020 Supreme Court passed a judgment in this regard.
What is this?

{A) Giving equal rights to woman in Government emplr.‘::rmant

| Giving equal rights to woman in family properties

(C) Giving priority to certain communities in acquiring land rights
(D) Giving priority to certain sects in accessing holy places

(E}  Answer not known

1929 sy pen® GamisdLCnd Sl Ul suwflures EBuss wIsm_gd, sSHag
Guflwn gi apasdin &l wib Ggm_Tumar Shoranbeang Bwupblenr,

~ &0 60 syan Baiasim Gpe 1989 b gyaimed, sullipsit sigeen s L wons Bubliug.

— asal. 11, 20206 o soffivanpih g Gpm_ e Sitienuu b anpidig.

Guodangpb LS sapCuc L el wib wng?

(A)  Quesgpbss Sire Ceuame aimdibld suw e few

(B) @by Qengfla ueingmés sn = Ranio

(C) s fe sppatisEsss Han o flawn @ugicudles apanggfilen

D) gmfe Shaspsie yais Guksaiic gempade qpargyfiams
(E) ehlen QefuaBdama '

128. As per 'Vel Pari’ the book written by Thiru. Su, Venkatesan, the Sahitya academy

winning writer

() “Paari” was a man of nature who knew birds, insects, plants like the back of
his hand.

(b)  The story “Vel Pari” was that of conflict between man’s greed and nature.

Whil:h of the above statements is / are correct? J
(a) only (B) (k) only

{GV' (a) and (b) (D) neither (a) nor {b)

{E)  Answer not known

srfgn  wanodl Qaenp egpssmat Hm & GeukaClsd  seuisamd STEpHUILICL

"Geusr L™ cramg greblen Lig, wdven sfiuinan sapenm | spmisener Gafray Gediuey.

{a)  “wnfl” upeeusd, WiBad, Fraghsd g 8uepED upfl Gpeflesnsan, bifleunsa)n
sifindimie Biupens suihs WaflHT e,

(b))  “Geusr unf” smgunegy wafigaia Cugnemsigd Bubasish e Gaonan gppamar

e pnsnhmdl D
(4)  (a) oo (B) (b} wi{Hib
(C) (&) whpd (b) (D) () b @dena (b) wib Bldena

(B) eafen Beflueiidanea
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128. With regard to the review related to the Tamil Film and master piece Pariyerum
Perumal', choose the correct statement(s)

{a)  Shows the ill effects of caste system
(b) It won the Film Fare Award under the ‘Best film' category
(c) It was a movie directed by Thiru Mari Selvaraj and produced by Neelam

productions.
(A) _(a) only (B) (a) and (b) only
(& (a), (b) and (c) D) (c)only

(E)  Answer not known

saafphs U Dumar "UfGugd Qumwad” adn gudlp Senpuib updlu eflwizan siiss
Epsngmih s ppsefl/spile sflurmeadenn Gty Gsiwagib

(a)  @oucibsrfu sl L enolGean Qamew dileerayseer sl g dar GEng.

by  @oucb Bssflohs uib' s euflensulen GellbGui ehimg Cupps

(©) @oud Sm wef Gedaugmgrd Bussou ®m,  fan guriiy BGOSSTE

Gaefllduc g
(A) (@) wlf (B} (a) wpgid (b} wi{id
(©)  (a), ) wpp (c) (D) (&) wi @b

(E) e Qafluiefidiancs

130. Why India has not become self-reliant in edible oil productions?
L High cultivation cost
II.  Low productivity
III. Lack of Government support
IV.  Deficient domestic demand

& 11 only (B) landIll
(Cy I, 11andIII (D) 1only
(E) Answer not known

senowe Fardand o pusSula g Gidun sheriy el wisBdema?
1. S (Baeonan smELIg Daeey

[l meppsepups Spdr

L.  sos ss0a) Geaame

V.  Curfu s épm @ Game Berenin

(A) M wipw (B) 1 wopgus I

(C) L1 wpmm I (D I wipe

(E) eller Gefluddma
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131.

132,

Which one of the following agricultural practices is ecofriendly?

Mﬂt‘ganic farming

(B) Shifting cultivation

(C)  Cultivation of high vielding varieties
(M) Growing plants in glass houses

(E) Answer not known

Gemeuemid efleusmu ppenpsatic og Eipd Hy?
(A) sl Gauernmairans

(B)  sr@ug wibob

(C) ofls wame smb sumssaflan snELig
(D) serarmy difsafic asn@md sraurmisdr
() e Qapfuciidaame

"Every registered Land holder is its proprietor”. The system is called as

W Ryotwari system

(B) Mahalwari system
(Cy Zamindary system
() Mugalayar system
{(E) Answer not known

"ufla; Qeiigy Bepms @agpee gadunmand sge Gsmhgssti e’ G

peRpendl Feuang Senipasama
(A)  Bomuggen peep

(B) wsaanf ppep

€y  gdangrhl gpenp

D) gpsemut gpeon

(E) eflen. Qafuwsehldienas

T
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133. Identify the sector(s) of Indian Economy which are the most affected by Cowvid
Pandemic —

(a) MSME sector

(b)  Awiation sector

{c}  Tourism and Hospitality sector

(d)  Telecommunication sector

(4)  (a) and (d) only @ Ta), (b) and ©)
(C)  (d) only (D} (a), {c) only

(E) Answer not known

@tdw  Gurmenngapdda. Canell Cumpbsrpprad Heaph Guorsors vrdles oo
Sleop(er) -

(8)  Amwhpb pEEsT Damfosd (MSME)

(b)  alwmen Curdmeaurhs

{€) epmeropob dlEsGambud Agmuiurar Qemfdssd

(d) Ggree s iy gop

A) (@) o (d) i Gib B (a), (b) wigid (c)
(C)  (d) wi{ib (D) (a), () Wb
(E) Har Geflueilbama

134. Which of the following states has shown the declining 'I:reud in the (GST) Goods and
Service Tax for the year 2019-20207

(A) Uttar Pradesh, Rajasthan and Assam

(B) Harvana, Rajasthan and Mehalaya

{C) Andhra Pradesh, Mathva Pradesh and Manipur
(Rp#” Maharastra, West Bengal and Tamil Nadu

(E) Answer not known

2019-2020 b syamgen Geama whged sr&E il aumadid Gapks aumn Gurss srawluEn
womflenamar wimenau?

(A esfr SrCesb, prgpeugne WHIHID HFmD

(B) epfwrenr, grpdugnen whmb Cusmamu

(C) iy SyGgad, wifu Splsab ofpb wefllyr
(D) waarmrey g, b akisb whn s8HErE

(E) sflen Gaflueiideme
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135. Consider the following statement.

The objectives of fiscal policy are
1. Capital formation

2. Equitable distribution
3. Unemployment
4. Regional Balance

From these, which are correct statement?

(A) 2,3and4
@™ 1, 2 and 4
(Cy 1,3and4
(DY 1,2and3

(E} Answer not known

Uilereumib anheom saueafl

Hdls Aandensulien Cpnémt samrasn
1.  ppesa aqrpeunssin

2. sowrer udiey

3. Ceasnersuminniensno

4.  swsulny suares
Eauppen, sraneu #flwimen sbm?
(A) 2, 3uvppo4

By 1,2whmub4

(Cy 1, 3uwpmb4

(D 1, 2wdmbad

(E) den Gpflusiicae

73
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136. Consider the following statement.
The ohjective factors for determinants of consumption function are.
1. Motive of precaution
2. Motive of liquidity
3.  Motive of avarice
4. Laissez-faire policy
Among the above, select the correct statement(s)

{A) dand4
I:V’l, 2and 3
(C) 1,2and4
(D) land4

(E) Answer not known

Slamaum b Seased

paiay e gaewHdldnn s el «yauer smraflseraan
1. (pedeisfios Cpréss

2. Errenmn geranis Cpmamd

3. Gugns Corésd

4. ﬁﬂ:;muﬂl..mfn QAsratans

Gudsngpb mppsafia sflurmapap Gsia) Gsluab
(A) 3 whmb 4

(B) 1,2 wpgubdd

€ 1,2 whgb4

(L)  1wpgis4

(E) chlen Gpfluekidena
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137. Which iz not related to direct tax Revenues of the central government?

138,

(A Taxeson Income

(By Taxes on property and capital transaction
(C)y Taxes on commodities and services
(I Taxes on dividends and profits

(E) Answer not known

ingfwi sipfan Crrg aummaumSeniha Gemoiy Gaarsg as?
(A)  sumwmar aufl

(B) Gegg wdpb epoge aufl

(C) uerLs wHob e auil

(D) uisrgmw whHpd Fevris aufl

(B} aflen. Gafiudidens

The first blue print for Indian planning eame from an engineer administrator

(Ade” M. Visvesvaraya
(BY Nehru

(C) S.N. Agarwal
() M.N. Roy

(E) Answer not known

Biflurda S0 gisaner eoeopuLhsd apsdlie aps Qunfiument BrardlSmbs
GLTHE

(A) M. dilguGausiocumuim

(B) Cpm
(C) S.N. susmiamb
(D) M.N. gmi

(E) sflen. @pfiueldame
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138. Consider the following statement

1.

Bihar, Madhya Pradesh, Rajasthan and Uttar Pradesh have very high
population. "

In India, Kerala has the lowest birth rate

West Bengal has the lowest death rate

Total popuiation
Land area of the region

The density of the population is

Among these, which are the correct one(s)?

(A)
(B)
(C)
(D)
(E)

1and 3 THE QUESTION AND ANSWER ARE TO BE
FLACED BEFORE THE EXPERT COMMITTEE
FOR FINAL DECISION.

2and 3

1,2and 4
dand 4

Answer not known

Fersumid sapenm seuafids

1.

3.

Cenleen saim_eupme sfluraraea sTeneu?

(A)
(B)
(C)
(D)
(E)

GR1P/21

Sanit. whu GrGasb, Hungeiprd: wHmb o587 GrGesb sdume s wisd
gmens Glamar e omgib

Gapenn Sk meants Aol ailflsd CanerGiremg
Cinde amismans: Blas genis Gl dsims GaranDaegy

s BErans b erang Qg s Ggrms
S gdiusles Bleocumiiy

BaCadall wppd ala @pg) gy allpars

1 oppd 3 wagpi gopalla pa @wisiu s aay.
2 gy 3
1, 2 g 4
3 wipib 4
aien.. Dafwefldana
76 n



140.  Which are the correct statement(s) related to “T-Bill' Treasury bill?

141.

{a)  They are issued by RBIL.

(b)  They are issued by Govt of India.

{e) Treasury bills pay no interest.

(d)  These are long term debt instruments.

(A)  (a) and (d) only @®~Tb) and (c) anly
(C) (b)), (c) and (d) (D) (b) and (d) only
{(E) Answer not known

Epsrgh sppasfid: T-Bill' (Treasury bill) Qgm_funer sfluraraubep ey Galua
(a) e Fidu fete aundund Qeseflulle Ciu@dldmearn,

b e nddu sgerd Geauefldl LuGiddnpen.

() wupdlan By el L §uang.

(d) oa AuBisre scan ugdristr G,

(A (a) wpmb (d) Ll o (B) (b) whmib (c) wi Hib
(C) (b)), (c) whgd (d) (1Y) (b) whgbd (d) w b
(E) dieo. Gsfludddamea

Thanthai Periyar wanted people to consider the following as equal to their lives
(A)  Independence for the motherland

(B) The family honour

L~ Self-respect

(D)  Rational faculty

(E} Answer not known

gpas Qufiunt, s shisdr e uSmEE gluns aarer CaudnHib e el miGug
(A)  smi pmle e eflBgema

(B) @mHbusapeub

(C) &wwfurens

(D) ugspdis Soer

(E) eflen Cafliuehdana

k| GR1P/21
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142, Consider the following statements:
1. The term of office of the Attorney General of India is not fixed by the
constitution
2. The remuneration of the Attorney General of India is not fixed by the
constitution

Which of the statements given above isfare correct?

{A) 1lonly (B) 2only
Both 1 and 2 (D) Neither 1 nor 2

(E) Answer not known

Sipsatm_ smpenp eraraniil unés

1.  @sfu geveano anpssBlenilen ugsilsmaob srfluaeninid Sramilisoucdbda

2. Qifu peoesn apssfofe sfod srfluesulis @randssiuddaa
GanRasiu Herer eundbummatieo o shwmang?

(A) 1wl@ib (B) 2w (Rib

(@ lupge?2 (D) 1 oppih 2 e

(E) allen Glgflueicancy

143. A Chief Minister supported by Thanthai Periyar challenged that "Show me a person
who died because a lower caste doctor wrongly injected or show me a building that
collapsed because it was built by a low caste engineer”. It was

(A) Omandur Ramasamy
@ Kamarajar

(C) Argnar Anna

(D) Kalaignar M. Karunanidhi
(E) Answer not known

sps Guilunies merada gaandst eoat B sard afigant | “srpbs srd
imhseT sanrs eadl Gumie grd Bpis am weliger adaefl i sranSisen sdag)
sMpds srll Qunlwnarynéd sETEg Gurer @i sl dang eraneafl b sremSdsan.” Feeimg

S O EUT WimT?
(A)  pupgi Grmosms
(B) &mogmggi

(Cy  flgni e

D)  seoaEst op. sl
(E) sfleo Gfluwellidemna

GR1P/21 78 n



144, Consider the following statements.

A high court has jurisdiction to

(1)
(2)
(3)
(4)

Punish for its contempt
Tender advice on a legal question referred by President of India
Tender advice on a legal question referred by Governor of the State

Issue certain writs to protect fundamental rights

Which of the above statement(s) is / are correct?

@ (1) and (4) only

(B) (1), (3) and (4) only
(C) (1) (2), (3) and (4)
(1)  (2) and (4) only

{E) Answer not known

e.wiffwdn sfanpd Qe iune Lpsdn sppsma swalssab.

(1)

Ehweanp ol senss g aiphasd

(2) @i Eewrs gewenfle Slmis o Gansmamsd Gal sl LD Seng sy misam
(3)  wnfle sesnf Bmis s Consmend ol sliul L nd g aipismmb

(4)  wglivenl 2 fennsener LngsmiLgheTs o Curraansama GDlSssamD,
B ) sfuines spp?

(A) (1) whpud (4) w G

(B) (1), (3) whpnd (4) wi Fib

(C) (1), (2), (3) wpgubd (4)

D (@) whpd (4) wl @i

(E) eflen Qafwetldianc
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145. Which of the following statements are not true?

(a) In 1968, the Government of Tamilnadu appointed a two-member committee
called Rajamannar Committee to examine Centre-State relations.

(b) It recommended that All-India services should be abolished

(e} It recommended that Finance Commission should be made a permanent body
(A (a) is not true

{(B) (b)is not true

(C) (c)is not true

(D) (a), (b) and () are not true

(E) Answer not known

Epsreariumn arsfwuisaio ame/ (5) sauprang/{@a)7?

(a)  wiAu wrfle o pesmer ey badiin 1869 gub sen@ sUlpnrE s grguodrei
&0 g sremm Bran(l e podlarsamers Saran. @p e Sulliss.

b o sde @i Gemasmar gilis Geauan o srann uflfsmosss.

(c) B meerwun Fpaouce @ Biksr Sewuouns Gess CaemBo e

Lfldgienydag
(A)  (a) paupreng
(B) (b) peupreng

(C) (¢} pauprang
(D) (a), (b) whmib () saibrarema
(E) dflen Qeflwcildane

146. Which schedule of the Indian Constitution specifies the powers authority and

Kesponsibility of Panchavat?
(A) Seventh schedule (B) Sixth schedule
(C) Tenth schedule @ Pleventh schedule

(E})  Answer not known

Eifu Ssrfusaolla abs 0 aeenbs ugssTuSs Pl Synnd, SidlsTb
whmn Surm s HoRC oo’ Heraran?

(A)  Taug =l eusnan (B) Beug i1 asenem

(C)  106ug =L cuanem (D) 1leugy = suener

(E) ebleni. Geflueiiome

GR1P/21 80 D



147. Consider the following statements -

148,

I.
IL.

111

IV.

(A)

Governor is appointed by the President

He is the nominee of the Central Government

The Draft constitution provided for the indirect election of the (Governor

The Constituent assembly opted for the indirect appointment of the Governor

Choose the correct answer :
(I} and (IT) only correct (B) () and (TV) only correct

{MT] and (IT) and (IV) only correct (D) (III) only correct

(E) Answer not known

Epdzam_ sapenn smEayb

I ayienpt @yurs soaagme SuldlssciuGepnt

I e wgHu sipsmussgnes fluweand Qb Ui gyeunt

Ol aearsy spfluaaoiug sl b senpt Auoaidps wepops Caiga qpapeny
G p il gy

IV. spflueecly fieu sou, sumst Csisgées wepaps Bune apape
s(BEgE Wanam g
sitwuren eflen_enw Bsfidshss

(4) (D) wigub (I1) w G &l (B) (I) wpmib (TV) w Gub &

(€) (1) opgb (1) whgud (IV) o Gibafl (D) (II1) w Gib &

(E) efen Qafwclicbans

Which of the following Institutions has the final Power of deciding on the
Composition of the Upper House of the State legislature?

M Parliament

{C}
(D)
({E)

State legislature

Lower House of the State legislature
None of the above

Answer not known

wirfle s wep Guaamaudar e plifent adnemflbmsamy fieniss s Boeiand wrg?

(A)
(B)
(C)
(D)
(E)

LIS L0680 LD

inmblay UL Loemid

wrBle s narpgHen Spaa
Guhsadly sravaun)l Bdana
eflan Agfluwsetldena
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149. The Indian President has a veto power over

I Ordinary bill
I Money hll
Ii. Constitutional amendment bill
IV. State legislation bhill
Which statement given above are correct
& (1) and (IV) only (B) (IV) and (III) only
(C) (D), (IID and (IV) only (D) (I1) and (IIT) only
(E) Answer not known

Bpfu myurs gmea’ aga B rhs Galdap sfsmims Daramg madpr

L
IL.

I11.

IV,

(A)
(C)
(E)

150. L
i1

(A
(C)

(A)
(C)
(E)

GR1P21

sngapen nGengr Sg

88 wBangn g

Sirflumeniolié s Smes wCangr g

inrfley s 1L wGsrsr ibs

Cunpenfluweummyer erg sflumang?

(1) oppid (AV) 02 id B AV) wips (11 6 G
(T), (111} wimd (TV) w Gn D) (1) wiged (1) w B
eHlai ﬂpﬁ‘l wiehlehenal

Meoney Bills can be introdueed in the parliament without president’s approval
The finance commission is appointed by the president
Which ef the above statements are correct?

(1 only ) only
Both (I} and (1) (D) None of the above
Answer not known

A8 wCsrgn, gandufds ufigganSand grmemoansdd srasd Qeludufe
FiEfu B8 scenemub gardudiords fulldsiuBang.

Gupmdlueanfid sy sflurengy?

(I} i (B) (D) ol
(1) wigb (1) (D) Cudser_ caeuuylidae
silen.. Gaflwebldenea
B2 0



151.

152,

153,

The eouncil of ministers of the Parliament hold office during the pleasure of
(" Prime Minister (B) President

(C) Parliament (D) None of the above

(E)  Answer not known

prmgn.oeny senodsqeana i lug, Gang spEeoun

(A) g wiHf (B) memilug

(C)  promgswemib D) Bow agab Goma
(E) ellen. Glgfwetidaene

Which of the following articles broadly Govern the relationship between the
Prime Minister and the President?

(& Articles 74, 75 and 78 (B) Articles 51, 74 and 75
(C) Articles 85, T4 and 75 (D) Articles 74, 75 and 79
(E}  Answer not known

Senaumi arig effad gamBud whph Grsw widfdea o pesear silaufsddnnes?
(A) ebiflsar 74, 75 whgh T8 (B) eflfisan 51, T4 whpd 75

(C) efifsen 85, T4 wpmb 75 (D) effsar 74, 75 wHpud 79

(E) ellen Gaflwebidama

Diroctive principles of State Poliey are described as "life-giving provisionz of the
constitution” by
(A9 L.M. Singhvi (B) Ambedkar

(C) Rajendra Prasad (I} Radha Krishnan
(E) Answer not known

e Cong auyflan. B Garmeassdr eerug srfluwamolnShe euSyelidmn liflserngmo’
eran S [l @i,

(A) e enih. Eliead (B) omCugsi
(C) @oCmedr Gyens (D) @orgn & meiyenmen
(E) eflen Ugflueiidene
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1564. Consider the following statements on Fundamental Duties :
1. Parliament cannot enforce it by a legislation
e It is applicable only to Indian citizens
3.  All Fundamental duties are either moral or civil duties
4, Paying taxes is a fundamental duty
Which of the above statements are true?

(A) 2, 3and 1l are correct
(B) 1,2, 3and4 are correct
{ivfiandEmmrmct

(D) 1, 3 and 4 are correct

(E) Answer not known

sy LiLen& s_epinsan Qgmiuren Sipssan. ansfuhsaer seaflssab

1 BT mgsoenmib s L sdlan apeih Fles SunduBEs apigLng

2 @5 @B ennbseiCs Qurpg

3. mewgy sgluee seeosEto gudés OpflseerGur sdeg  Egew

S enoEaarGLm g Liuen wins SamaL ameu

4. e auflsaer Deguigieugib @@ S UUaL S
Guofh saplin (RerareuhmeT erane #ilwimenanas?

(A) 2, 3wpgn 1 sflwrerenea

(B) 1,2, 3 whgb 4 sflwmarenea

(C) 2 uwdgnb 3 sfhurasena

(D} 1, 3 wpod 4 sflwrenana

(E) efleo Ggfwelicana

GR1P/21 B4 n



165. Which of the following ﬁJﬁdnmantai rights was converted as legal right?

156,

{A) Right to Equality
(B) Right to Freedom
(C)  Right to Religion
6 Right to Property
(E) Answer not known

Sleeu(meuamsu o erhg g (el o flamw sl o fewwirs wrpoliuc L g?
(A) swvize e fawn

(B)  szpdvefew

(C) wgs fienws

(D) denggfeaw

(E) eflan Qefluelioma

Identify the fundamental duty that was added in 2002 by the 865 Amendment Act.

(A) Respect National Flag

(B) Defend our country

(C)  Develop Scientific Temper

WT@ provide opportunities for education to children between the age of 6-14
years -

(E) Answer not known

200260 86w SpFlwa smsen SmEsd FLb apawns Bedstiul L S UL SRS
s, fhs,

(A)  Cpdlu Qamgenws wfsse

(B)  pog pries, Lngsrisd

(C) =fisflwd earima Cuobu@igsd

(D) B pae 14 auwg Bpbagswrssne soal shsh amilig aiphiss

(B) eflen Csflusiisens
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157. Consider the following statements :
L The consititution of India establishes a Parliamentary form of Government
[I.  Prime Minister is the Head of the Government
II1. President is the Head of the Government
IV. Real executive power rests with the President of India

Choose the correct answer from the following :

& (1) and (IT) only true (B) (IIT) only correct
(C) (I} and (IV) only correct (D) (IV) only correct
(E) Answer not known

&psain_ spenp shBeaiD

L Bl g flueoenoliijE SULD LITTMEHOETD SHJSTTEIS (papEL Blpeluydrang
II. Spgwisperusgian gl Syamt

I, @uers geael sgsmiasien seaieul Spaum

IV. @ups gemai eammpurer Gausmn 8l sflsmm Clamean_eu

sfhiwumen cileni_ o sam_pls
(A) (D) whged (IT) o Gibaf (B) (1) wi b &f
© D wpmid AV) w0 Hib of D) (IV) wiGid s

(E) efen Gafwaisaa

158, By what name or names is our country mentioned in the Indian Constitution?
(A) Indian and Hindustan
(B India and Bharat
(C) Bharat
(D) India, Bharat, Hindustan
(E) Answer not known

Bipdu srfuseninbes il ol G @ifurdd Gl wirg?
(&)  @pduwer whgd Bpssre

B @pBur oppd LTEd

(C) wumsEd

D)  @phun unpd, Gheames
() eilen Gaflweiidmea

GR1P/21 B6



158. Match the following :

(a) Article 39(b)
(b) Article 48(A)
(e) Article 39(d)
(d) Article 35(A)

& @ ©
(A) 1 2 3
& 4 1 2
) 4 3 2
D 4 1 3
(E)  Answer not known
Eipseim_supenp Quinmbgs :
(a) sy 8 iy 39(b)
(b) &L o g 48(A)
() s i e gy 38(d)
(d) &L gy 39(A)

@ @ (©
A 3 2 3
B 4 1 2
© 4 3 -
m 4 1 3
(B) eflen QaMuschldens

2.
3.

4.

(d)

Protection of Ecology, Environment from Pollution
Equal pay for Equal work
Free legal aid to the poor

Abolished hereditary property

S wimd sHpé mpd wreuTigdmbe
LITZI&mIL

win Gauenend, s eadlu b
anp sreflu wesgnss Baas s L o sehl

LFbUenT Cangsi e oiflssd
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160. Match the following :

(a)
(b)
(e)
(d)

(A)
(B)

(D)
(E)

1
(e 4 5 2 1
4

Preamble as

Political Horoscope
Keynote to the Constitution
Soul of the Constitution
Paradise of Lawyers

@ ® @ (d)
1 2 3 4
2 4 ]

1 3 2
Answer not known

Eunwﬁs ¥

(a)
(b)
(c)
(d)

(A)
(B)
(C)
(D)
(E)

GR1P/21

(P&LILER TG Ligd
SATFILIED ETESLD
SrFwcenolnSar srehl
srfwmanlnfer gpemng
auppaaitenTeatien GamTasd

(a) (b (c) (d)
1 2 3
2 1 4
4 5 2
1 4 3
eilenL Gaflwelldena

B = M

BR

I R

g o L

Said by

Sir Ivor Jennings
Thakurdas Bhargav
B.R. Ambedkar
K.M. Munshi
Earnest Barker

S Pl veuit

& gpeur @i
BriETe Lt
EL T T T %Y
Ga.arib. apendl

ETHERE LTSS



161.

162.

163.

Find the value of & if
142+ = 44100
(A 20

(Cy 22

(E) Answer not known
ke -t ingl i wmera.
17224+ B = 44100
(A} 20

¢y 22
(E) die dsflwueliidma

(D) 23

(B) 21

If A=2% and B=2% 4+ 2% 4+ 2% 4 ...4 2" which of the following is true?

(A) Bislargerthan A by1

(C)y A and B are equal
(E) Answer not known

A=2%" oiph B=2"+294 2%,
Glaneuqmeuenahifie argy o amann?
(A) B smay Age 1 sflsid

(C) A wpgio B suob
(E) dflenc Ogfluaticraea

Find the missing number :
3,12, 27, 48, 756, 108, ——
(w147

(C) 183

(E) Answer not known

el (R TREENGETS &iTaTE -
3 12 27, 48, 75, 108,
(A) 147

(C) 183
(E) sblen Qsilwshlaena

B9

@ A is larger than B by 1
(D) B is 2* more than A

+2° ews QanPssiul@damy  eafld

(B) A speny Bgel 1 mflsd
D) B sy Amefe 2% sflsn

162
192

ChE

(B) 162
(D) 192

GR1P/21
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164. In the given number pattern find the next term

21 321 4321
33" 444 '5555°
1931 1234
o B
W o660 B 3555
4321 321
© 2222 BEGEG

(E) Answer not known

%. E , ;::; ' STEND el (RES Terenantd STeTa.
7631 1234

o 6666 i 5565
4321 54321

Q) it

b 2222 o= GEEG6

(E) eflen Gaflweaildama

165. If ‘HUMBLE' is given by the code EHLUBM. What does the code EDUCATION
mean?
(A)y NEDOIUTCA
(B) NEOIDUTCA
(C)y NEDUOITCA
MNEUDI[TI'\E&
(E) Answer not known

HUMBLE seéues EHLUBM egub @il ra srouga EDUCATION egub @fbE
Egenand @hlhn 7

(A) NEDOIUTCA

(B) NEOIDUTCA

(C}y NEDUOITCA

(D) NEODIUTCA

() e Gsfiueidena
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166.

167.

168,

What is the probability of getting an even number when a die is thrown?

1
@ = (B)

1
(g s (D}
(E} Answer not known
S LS ey el Bhduryps ef Bl due aar Saclousghene flapssa) wng?
(A) (B)

i |

== = R

(C) @)

(E) «flenc Gafluebicoame

The present ages of Arun and Suresh are 24 years and 36 years respectively. What
was the ratio between the ages of Suresh and Arun, 8 years ago?

(A 4:7 (B) 6:5

@ 7:4 (D) 3:2

(E} Answer not known

Symalr whmb s0rdy sgHCuramgy awgsdt gpanptu 24 euhehisdr wipid 36 L RS
aafie 8 menBsgnés opary sGray wppD SEEr Qugseia dlfgn ednerans
Bepfnsso?

(Ay 4:7 (By 8:56

(Cy T:4 (D) 3:2

(E) dflen Gafwabidena

A and B together can do a piece of work in 16 days and A alone can do it in 48 days.
How long will B alone take to complete the work?

(A) 18 days ®y*%4 days

(C) 28 days @) 30 days

(E} Answer not known

A whgh B sfu Gracd Beeris a0 Casmame 16 prisals qpriu. A gefiCu
i Gaumamu 48 prisefle apguunt aafie, B geflCu mis Comamu assmen
B safled g umT?

(A) 18 priser (B) 24 prisdr

(C) 28 pmisar (D) 30 prC_men

(E) eflen Gaflwsiidens
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168. 210 men working 12 hours a day can finish a job in 18 days. How many men are
required to finish the job in 20 days working 14 hours a day?

(A) 156 men {MEE men
(C) 168 men . (D) 172 men
(E) Answer not known

210 syarser pridemranyég 12 wefl Gapd Geuener Grlg g Caumasnu 18 mrlsaflcd
apiliuf. iGs Caenaaw srlamamss 14 wefl Cono Came Calg 20 prisefio opgss

edmanan oy drad Caaa?
(A) 156 sgamadr (B) 162 gyamsen
(C) 168 syansdr (D) 172 syensar

() efle Ssfluafaame

170. If 5 persons complete 5 projects in 6 days then 50 persons complete 50 projects in

— days.
{h;/‘ 5 days
(B) 10 days
(C) 50 days
(I 55days

(E) Answer not known

5 putser § Caemeeaw b pmisafla Gealg pulor eafle, 50 sursdar 50 Camasaan

prlsefle Galig qpg L,
(A) & pmsar
(B) 10 pmiser
(C) 50 priser
(D) 55 prisen

(B) el Qpflueidma

GR1P/21 92 n



171 A mason uses the expression 2x® +16 to represent the area of the rectangular floor

172.

of a room. If he decides that the length of the room will be represented by 2(x +2)
then what will the width of the room be represented in terms of 7

(A 2{x-2)

B) (=" -4)

(Q” (x* - 2x+4)

(D) (x*+2x-4)

(E) Answer not known

slig. Caumawumd gEan Ssepud Grdias aiga sorulda upluare 2x +18 eTeng
gmonefiggs Csraminh. smgdn fembd 2(x+2)erend Flldsiulinrd SHEQDTANE X -an
gimLITS Gleraymeuareu e e ?

(4)  2x-2)

(B) (x*-4)

(C) (x*-2x+4)

@) (*+2x-4)

(E) eflen Qupflwehidenc

The volume of a solid hemisphere is 20106 em®. Another hemisphere whose volume
18 two-third of the above is carved out. Find the radius of the new hemisphere.

(A) 21l5cm
(B) 12cm
(B 21 em
(D) 23cm

(E) Answer not known

g fams sepsGanmilien sensma 20106 5.058. ppanfla Fram® ukiE sen Seraysman
wiHGpm senpaGarenn Gfdlmis GagsstuGuorend Lfu swersCaragSan aymb
TR

(A) 21.5Qs.8.
(B) 12 Qaub
() 21 Qs
(D) 23 Geib.

(E) eflenL Geflwetiome
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173. The difference between simple and compound interest on a certain sum of money for
2 years at 2% per annum is ¢ 4. Find the sum of money

(A) = 2,000
(B) 7,500
(e * 10,000
(D) 12,000

(E) Answer not known

2% e el igifi 2 HErbiE g SFRaEs Soids M0 algszh gafl alysgd
@ Cuieren elg@unsb T 4 vaflé swupdlen sisd adnar?

(A) 2,000
(B) 7,500
(C) 10,000
D) 12,000

(E) ellen Ggfluaidaa

174. The difference between the compound interest and simple interest accrued on an
amount of ¥ 18,000 in two vears is T 405. Then the rate of interast per annum is

(A) 12% (R T5%

(C) 18% () 10%
(E) Answer not known

Bm amihssia 18000 dSsgrar &lf awls, geflacy gdoapfle digfursn

405 sraflé aumpL g eligi
(A)  12% (B) 15%
(€ 18% (D) 10%

(E) eflen Gufliuchioaa
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175. Find the rate of interest if the difference between C.I and S.I on t 8,000 compounded
annually for 2 years is ¥ 20

W 5% ®) 10%
(C) 15% (D) 20%
(E) Answer not known

t 8,000 &5 Rrean® gerBagss delbEmbd aml ( algdmb, saf al s el Gy
o crer eblgflwnan € 20 oafld an’ iy efgb srans.

(a) 5% (B) 10%
(C) 15% (Dy 20%
(E) e Uafuebidamea

176. Find the principal on amount ® 11,800 at 6% per annum for 3 years being simple
interest annually.

(A) 28,000
(B) =9,000
;,a-.;/: 10,000
(D) 9,500

(E) Answer not known

pperpranhsaics 6% safleu 1y el Guongs Garas T 11,800 2aflsmin ssmas srems.

(A) = 8000
(B) =9000
{(C) =10,000
(D) 9,600

(E) e Gsfweiidama
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177. The value of a machine depreciates at 10% per year. If the present value is
¥ 1,62,000. What is the worth of the machine after two years?

(A} ®1,29.600
(By *1,30,600
(C) *1,31,600

{Bﬂ’l’ 1,31,220

(E) Answer not known

o0 Bupdrifa solunmsu wdiny T 1,62,000. gdQane yerpagn Bupdsde
wily 10% gonfiog. aalld, Qrand senfsa sfisy Baaubfrsge wHoy eama?
(A) ©1,29,600

(B) *1,30,600

(©) *1,31,600

D) *1,31,220

(E) sflen. @sfiuaiamea

178. A sum of t 48,000 was lentout at simple interest and at the end of 2 years and
3 months the total amount was £ 55,560. Find the rate of interest per year.

o 1% (B) 8%
© 9% (D) 10%
(E) Answer not known

sLmTs anpiisii’ L s ¥ 48,000-45 2 garfed 3 wngs sragdiEd G saflan s
apant Guptiud L Sergss Ggres T 55,560 ous Bmbss aefld, wly dizsmes srdns.

(A) T% (B) 8%

(C) 9% ) 10%

(E) &Senr Glgfluehidama
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179. Raghul wanted to find the height of a tree in his garden. He checked the ratio of his

180.

height to his shadow length. It was 4 : 1. He then measured the shadow of the tree. It
was 15 feet. What was the height of the tree?
(A) 15 feet (B) 30 feet

(@ 60 feet (D) 175 feet
(E) Answer not known

Bomge gang Garl Ll eerar qm wisden ewgdans blu algmn Seanmi. SOGUmE e
pergl nwgdagub, gag Rpda Sergagub somig sg 4 : 1 aap ddsifé eaamas
syfibsmr. am ngifan Bipelen fomb 15 sy erafley, wogHen e wumb srenen?

(A) 15 =g (B) 30 =i

(C) 60 sy (D) 75 =g

(E) eflen Qaflusides

A shop keeper marked the price of an article as 15% more on its cost price and then
offered 15% reduction for the article, then he got

(A) Profit

{E}’" Lioss

(C) Neither Profit nor Loss
(D)  Profit as well as Loss
(E) Answer not known

G sabami gm Qunmeflan sLds dimadid 15 spelsn afisonsd sgan Giiss daa
SpEERnTT, s 15 sgelpin senenuig sha elpumen Qeldpri crafld s dami el bEg,
(A) amuib

B) ploib

(C)  enugpd Bdena Bl ap Edama

(D)  eruwrsed EliRéE B L wiEayD BimSE0

(E) fa Ggflwecidens
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181. A hemispherical tank of radius 1.75 m is full of water. It 15 connected with a pipe
which empties the tank at the rate of 7 litres per second. How much time will it take
to empty the tank completely?

27 minutes

(B) 26 minutes
(C) 72 minutes
(D) 62 minutes
(E}  Answer not known

=grn 1.756 b edver g swnpGane angaus Gamig appdignd ford Bniudul R, em
@pmier apeed efismgdm T Hiid aign Qerigldmsy £ QaefCunplu@urem,
Amm e srdieuana) Enrgdd apopauigiors sredl Beliwsnb?

(A) 27 B sssar

(B) 26 Bl dser

) T2 ;ELEIl._rE.JEH"T

(DY 62 B8 rusar

(E) dllen sflweicme

182. Find the LCM of (x* - 1), (x* - 2x + 1)

Ay (P +D(x+1)
(B) (x+1)(x-1)
(C) (x* +1){x-1)"

B (x4 D+ 1) (-1

(E)  Answer not known

B.Quim.w sraws. (x! - 1), (x* —2x + 1)

(A) P+ x+1)
B) (x+{x-1)
€ o+ -1

D) (2 +Dx+D(x-1*
(B) el Geflueidana
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183.

184.

Find H.C.F. of (xEy + xj’}, {rE + 1y)

(A} x+y B)
{ x(x + ¥) D) =" +y"
(E)  Answer not known |

('y + "), (2" + ) g fuapde & Qur. w. srens

(A) x+y (B) =y

€) xx+y) @ =*+y*
(E) shlen Gafluchidane

Simplify 5% +§ ufg
@ 6y
@62
© 65
® 63

(E) Answer not known

o543
W 6g
® 6
© 65
(D) E%

(E) eRen Gpflusiidena

89

GR1P/21

[Turn over



: . 4 B & 3 12 =EF
185. Simplify: =+ = -2+ 20 2%,
e T T
3 43
12 ® 2
33 13
() 35 (D) T
{E) Answer not known
R, % .3 & 30 13 -—31
22 “F 3R B 1
b3 43
(A) T (H) 19
33 13
C = I —
() 12 (D) T

(E) &far Gl

186. According to Darwin, speciation is effected by
Mma]l continuous heritable variation
(B)  small eontinuous non heritable variation
(C)  sudden heritable variation
(M)  sudden discontinuous variation
() Answer not known
Lrivehlel Sadimilicig. Blenbisdr ergan apeoih GembpetlEs v Gddnpen?
(A) Al Gem_ i wry enfhs wapun
(B)  Sfhw Qg fr gy webeuns wmgun®
(C) S gy snihs wrmun(@
D)  Hut O ibbuipy purG
(E) e Qefweisma
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187. Agriculture Information Service Network (AGRISNET) was launched for providing

188,

following information viz.,

I Rainfall

II.  Fertilizers position

I, Minimum support price

IV. Sister departments of farm community

Select the appropriate combination

(4) 1,1 and III &1, 11 and IV
(C) 1L IIlandIV (D) II, III and IV
{E) Answer not known

sheusmu  gsaud CGsosy aweewueoly (AGRISNET) Spsrgoh GemslaSé o dren
poaibs SOEDE

L wenp Glumyfiay

1. ey@moy e

IIl. megbsuls ssmy e

IV. uerenan sppsisdlan genan gapsd updl

aiuren Gaisasaw et Selwab

(A L1 wpge 1 (B) I, 1 hge IV

(C) L III b IV (D) II III wjmns TV

(E) &Se Cafwsiidae

Which of the following incidents led Thanthai Periyar to agitate for Communal
reservation ;

(A) Representation for the backward classes was very little in Government jobs
(B) The Central Government resolved to invalidate the Communal reservation
{(C) The State Government resolved to invalidate Communal reservation

(R The High Court and the Supreme Court declared as invalid the Communal
reservation for professional courses

(E) Answer not known

Sipsngmd ehs sbuwksd shes Qufiurey agluans BL epsfl Csaa aam
Herriflew Crrad o fFwm

(A) s Caerasafid Sangidlu sugliyeaiie iss menpeunen SlodBSssen

(B)  agiyanfiure @ OukdE Geaeang e wsHu Sirs Guphlu Shomemb

(C)  auslyanfuren @Liukd Qedoeng eer wifle sips §upllu Sforend

(D) Gemflperp ol aygousauniiure G oonbf Geaang car wurhfosmapd

eésffoapopd siflellpag
(E) eflen Qaflwieiidanc
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189. According sustainable Development Goal India Index 2019, brought out by the
NITI Avog for the year 2019, Tamil Nadu stands

{A) First
(B) Second
*” Third
(D) Fourth

(E) Answer not known

2019 b gen® B HCurd Qaefll. @rfwredle flawssgsss aamzblésna
Pokesd GAS b, sOPHE ApADsEH> Gid

(A opgarag
(B) @Erar_mag
C) mpampraug

(D) mressteus
(E) eflen Gpfluieiisanea

190. Water drop in space is spherical because in the absence/reduced effects of gravity,
the forces governing the objects are all the same and therefore the drop

l_'ﬂq/ attains a shape having the least amount of surface area,

(B) attain= a shape having the maximum amount of surface area.
(C) attains a ehape having the least volume.

(D)  attains a shape having the maximum volume.

(E) Answer not known

slsrbeieilis oy dHlas Baansseamd/@ooaurs Bmouseamo, Gunmasafien Ssren
Sinanisy clamssenb swwns Bmsfog. Geand clarbouafilia Ersgeflumangy Cararayay
Cupdng. seany Garer auganb ar@Ougenmed, Brdsaf

(A)  dlss gepsurar Guduriy GErar el s DD

(B) s sblswrer Guodugly Glamam angeubans il ng.

(C) ek geopeume Lmwoen Herear augeuseng o Dims:.

(D) bls sifisorer Lmpod Serar. g asns DS,

(B) efen_ Ggflwehidenen

GR1P/21 102 n



181. Athikadavu - Avanashi scheme is related to

192,

(A)
(B)
(C)

Drop irrigation
Pour - irrigation
Drinking water and Well Recharge

@ Drinking water and Ground water Recharge

(E)

Answer not known

Siffa e - sellprd) HLD sanug Spamasmaibpe oo GEm e wg?

(A)
(B)
(C)
(D)
(E)

Qe85 unewbicab
Agefliiy Bt ureeng Sl i

@bt whpb Senyss Gafigy G HCL b
e bt whmb Hegsn b Geflan’ Gib b
alen._ Qliichldanss

Why Chennai is called as " Detroit of Asia™?

(A)

Due to the presence of Textile Industry

fM Due to the presence of Automobile Industry

(C)
(D)

(E)

Due to the presence of Leather Industry
Due to the presence of Film Industry

Answer not known

" Flwimeblen @ gmin’ " erempy Claanenan e e pssULBH S D ?

(4)
(B)
(C)
()
(E)

majels Opmfles Gsupama

Gom_ Lt aunsens Gumbls @miivsanmd
Canéd Qpmfld @ moiusame

Bt g Qpn Huiupans

clen_ AgMuicisoenes
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193. To reduce the Investment and the Incremental capital output ratio the following
approaches are to be accomphshed

L. Static efficiency

II. Dynamic efficiency
I11. Allocative efficiency
IV. Technical efficiency

(Ay - I, III, TV only (B) I IL 1II only
(@ I, 10, IV only T, 111, 1V only
(E} . Answer not known

g sl wigh sfsfégd pose Qeddl ( ddspmss Gapss Geraummb
sgpsapansd Baplappiu. CadrBin

I Hlenarwinen Qevdfpen

II. wrmb Gewdadpen

1. gmsél dsuagiper

IV. Gamfien’udsuddind

(A) LIIL IV wl @ (B) L IL I wi@o
{C) LILIVw b (D) II, II1, IV ol (e
(E)  cflen Glaflwehldena

194. According to All India Survey for Higher Edueation 2019, which State produced the
maximum number of Ph.Ds. in the country in 20187

W’ Tamil Nadu (B) Kerala
{Cy Maharastra (D) Gujarat
(E) Answer not known

s@ads BESu e vt sosflEsta sanaCsBly 2019 We uy aps wrflod 2018 B
siflsLl s aareflLeansulerman 3. d g Saner (panarsuiTsenan ) B reunsdludtang?
(A} sl (B) Cxpemn

(C)  weryraygom D) mgons
(E) shlen Qefluishidoamea
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195. Consider the following A=sertion and Reason

Asgertion (A) ¢ Bringing down the influence of the rich and powerful people in
making Governmental decision making 15 the challenge in the
eoncepl of ‘expansion of democracy’.

Reason (R) : People's participation and their control i meaningful, only when
influence of the rich 18 brought down. It results in “Deepening of
Democracy”.

& (A) is wrong but (R) is correct

(B} Both {A) and (R) are correct

{C} (R} is wrong but (A) is correct
(D} Both (A) and (R) are illml'l‘ﬂt:F

(B} Answer not known

SpauEin smes wDmd s syduaidep saeflésain,

s@ia (A) -

srpamb (R) 4

spsis  apPaBssdie, vswkstgisdr wHmb  sdermb LeLgs
inssafldn Cedeanions maplug g “peabius cflurésn” agb
S(n5Aln s By ED.

B ST LGl i ln[i;,g_jui: Saisailar s HOunE eerug vsndsyiseatldn
Cledeunsm mapsstuBotung wC Bl GCumbEsa wgts WOrgD.
ElsGa mempmusgens 00U EHEHD HL iy S@HLLOTERD,

(A)  {A) soum e (R) o Gub &
(B) (A) wpgb (R) GEgekeGib il

(C)  (R) seum peanmed (A) &l

M) (A wpgd (R) @ran@n &7 s
(B) e Gafludldmea
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196. Assertion (A) © Access to Primary Health centres helps identification, care and
prevention of communicable diseases in rural communities.

Reazon (R):  More optimum utilization of rural health infrastructure is expected to
vield expected results,

Mﬂﬂth {A) and (R) are true and (R) is the correct explanation of (A)
(B)  Both (A) and (R) are true but (R} 18 not the correct explanation of (A)
(C)  (A) is true but (R) is false

(D) {A) is false but (R) is true

(E) Answer not known

o mflue & spd (2)  Sgmo pbsd sEnany enowksemen aafigrs s@mEh Cung
Sipwsseie Cu Gamm Cemisser e wrand smarab,
saafEsa)b, shesab e sapding.

&mmemnh (&) : Aymoliyp - s&srgny  edsl Lmollldr  eshs  wweund
erdTEmTamD Lsanen S50

(A) (o). (ar) @b ol @dg an (zr) erenLig (o }-ailar afiwimen eflardsin

(B) (o). (m1) Brew b of. @i e () eratug (o )alar aflurar ellenian yda

(Cy (o) #fl grerma (@) Seaumy

(D) e seum ypenma {si) &

(E) sflen Ggfwiahicians

197. Which is the first state to employ differently abled, in the Mahatma Gandhi National
Rural Employment Guarantee Scheme?

(A) Kerala M'amﬂna&u
(Cy QGujarat (D) Karnataka
(E) Answer not known

wargor smid Cafu saps Cama o gs S s8d. wrbns Spareflsmer LafluwigEu

apge wnEleolb ergy?
(A)  Csgenr (B) sullpmal
C) e (D) simm_sn

(E) sHeu Gaflweldaamea
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198, Identify the Personality:

{a} He was honoured with such titles as Hao Sahib, Rao Bahadur and Divan
Bahadur for his selfless social services he did for the marginalized in the caste
order,

(b)  His autobiography is Jeeviva Saritha Surukkam which is one of the earliest
autobiographies.

(e}  He founded the Adi Dravida Mahajana Sabha.
Who he is?

(A) Thanthai Periyar

@»” Rettai Malai Srinivasan

(C) M.C.Rajah

(D) M. Singaravelar
{E} Answer not known

A EHEND G SHEILLITETLD STaRTeLD

(a) #nf ahesdd pEéstu’_aisgssens st Gsbs sEaeopn 06
Coapausignéans frey wagit, gres srdlly whme Sesrer Ussai aep ulL RGmar
Ganses Geermeissin L

by seurg susfog deflu ofls smdmb ymbuste susfimssata ganprso.
(€}  sieu Sefl Sprell wamgen senLieow il

ALK i

(A)  shens Guflwmt

(B) @riew vee Ballansa
(C) b & grggre

(D} b, Srsmmy Gameoi

(E) eflen. Qafluclidens
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199. In January 2019, Indian Government approved the merger of three Banks. Which of
the following does not figure in merger?

{A) Dena Bank

(B) Vijaya Bank

(C) Bank of Baroda
Q" Lakshmi Vilas Bank
(E) Answer not known

meraifl 2019-6 ppeng aukdsma goyideanss Gy sos sigyod apiiflug. &psar
ersucunudl @i aymnsdlansme e @b Gupedldena?

(A Cgenm surisl

(B)  ellguwr cunisdl

() wCgmimamiud

(D) wegd clama e

(E) dloc Gsfluchidaa

200, “Post - Tsunami sustainable livelihood programme for the coastal communities of
Tamil Nadu” is assisted by

(A) World Bank

V International Fund for Agricultural Development
(C)  Asian Development Bank

(D)  International Monetary Fund

(B} Answer not known

Sl i oder &G wasgsésren samilée S Hewss ampansty SO S8 He
e gefipg.

(A) o_com eumadl

(B) efleusmu Ginbumiig pamen sreuGaes Bl

(C) el cyeriadl sukidl

(D) steuCes mmany b b

(E) dflen. Gafluelidana
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